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During this interview, we are going to draw on some information
you provided last year in order to help you with answering some

questions.

Check the respondent’s details. Correct if needed.

birthmch

birthych

<name> <sex> <birthm> <birthy>
Correct Correct O 1 Correct O 1 Correct O 1
Incorrect Incorrect O 2 Incorrect O 2 Incorrect O 2
<educ> <std> <estat> <mstat>
Correct O 1 Correct O 1 Correct O 1 Correct O 1
Incorrect O 2 Incorrect O 2 Incorrect O 2 Incorrect O 2
1. Have you lived at this address your whole life?
Yes O 1
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99
___capit=2

12. In what year did you start living in this town/city?

Enter the year of birth if the respondent was born in the town/city and never left it. If the
respondent lived elsewhere in the meantime, enter the year in which they came back to the
town/city.

Record year in the format YYYY.

................................................................. livad = 2
[Don’t know, can’t say]

[Refused]
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| capi1=2
I13. And in what year did you start living at this address?

If the respondent was born at the address but lived elsewhere in the meantime, enter the year in
which they came back to the address.

Record year in the format YYYY.

................................................................. Ilvad - 2
[Don’t know, can’t say] O 888 888

[Refused] O 999 999

14. If you could choose, would you stay here in your present home or would you prefer
to move somewhere else?

| would stay O1
| would move O 2
[Don’t know, can’t say] O 88
[Refused] O 99

I5. In the next 12 months, how likely are you to move from this address? Is it...

Very likely O 1
Likely O 2
Unlikely O,
Very unlikely O,
[Don’t know, can’t say] O 88
[Refused] O 99
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16. If you were to assess, overall, how satisfied or dissatisfied you are with your
accommodation, how would you rate your satisfaction? Please answer using this

card where 1 means very dissatisfied and 7 very satisfied.

Hand showcard Q6.
very dissatisfied very satisfied
[Don’t
1 2 3 4 5 6 7 know, can’t
say] [Refused]

O, O, O; O, Os O Oy Ow O

I7. Using this card, could you choose one main reason why you are somewhat
dissatisfied with your accommodation?

Hand showcard Q7.
Small flat, poor layout O 1
dwsat=1|2|3

Too dark, not enough light O 2
Poor heating O 3
Dampness O 4
Ba.d neighbqurhood (relations wit_h neighbours, frequent O
noise, pollution, danger, anonymity) 5
High housing costs Oe
| do not own the flat O 7
Other O 8
[Don’t know, can’t say] O 88
[Refused] O 99
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Now we would like to find out about your education

; | capi1=2
and studies.
Now we would like to find out about your education
and studies. If you are pursuing, or have pursued in the =l
last year, multiple courses of study, tell me about the
one that is more important to you.
| capi1=1___
18. When we last interviewed you on <date>, you were studying <w1_stype>. Could you
just specify how this course of study ended?
| completed it successfully O1
w1_std =1
| interrupted it without completion @) 2 AND
wi_stype=1]2|3|4
Another way of leaving school (dropping out, expulsion, etc.) O 3 5] 6||172||81!39| |110 [ 11
Other. SPECIFY: ...eeeereerereiierereee e e e eerae e e e e eerenaas O4 AND
std =2
[Don’t know, can’t say] O 88
[Refused] O 99

| capi1=1___
19. Is the area of your (main) study still <w1_sfield>?

Yes O,
wi_std=1
No O, AND
wi_sfield=1]2]3|4
[5/6]7]8]9]10]11
[Don’t know, can’t say] OSS 11211314 ]|15]| 16
|17 118 19]20| 21
[Refused] Oy | 2223|2425
AND
std=1
IF sfieldch =1 => sfield = w1_sfield

IF sfieldch = 88/99 => sfield = 88/99
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| capi1=1__|
110. What is the main area, specialization of your current study?

When there are several study programmes, pick the one that is more important to the respondent.
Hand showcard Q10.

110. What is/was the main area, specialization of your study? Refer to the highest level
of education that you have attained.

Ask current students about their present study, otherwise ask about the highest level of education
completed. When there are several study programmes, choose the one that is more important to
the respondent.

Hand showcard Q10.
Basic/broad general programmes 01 L capit=1____
Personal skills O 2 ((w1_oséd =2
Teacher training and education science O 3 W1—SfleLdNBBB 199)
td =1
Arts (fine arts, design, music, performing arts) O4 S OR )
" - . sfieldch = 2
Humanities (religion, foreign languages, mother tongue, O
philology, philosophy, history) N capi1=2 |
Social and behavioural science (sociology, political science, O ALL
economics, psychology) 6
Journalism and information (journalism, library) O7
Business and administration (wholesale and retail sales, O
marketing, banking, accounting and taxation, management) 8
Law O 9
Life science (biology, biochemistry, environmental science) O 10
Physical science (physics, chemistry, Earth science) O 11
Mathematics and statistics O 12
Computing O 13
Engineering and engineering trades (mechanics, electricity, O
electronics) 14
Manufacturing and processing (food processing, clothes O
and footwear, materials, mining and extraction) 15
Architecture and building @) 16
Agriculture, forestry and fishery (including horticulture) O 17
Veterinary @) 18
Health (nursing, dental studies, pharmacy, medicine) O 19
Social services @) 20
Personal services (hotel, restaurant, catering, tourism, O
leisure, sports, domestic services, hair and beauty services) 21
Transport services O 22
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Environmental protection O 23

Security services (protection of persons and property, O

military and defence) 24
The programme can’t be classified O 25
[Don’t know, can’t say] O 88
[Refused] O 99

___capi1=2 |
I11. In what year did you complete your highest level of education?

Record year in the format YYYY.

[Don’t know, can'’t say] O 888 888

[Refused] O 999 999

112. Did you ever start studying at a higher level than is your highest level completed,
without completing your studies?

The question does not concern a currently studied programme.

Examples of incomplete studies include a follow-up secondary programme with GCSE (the
maturita exam), higher professional school, college, university, etc.

Yes O 1
No O 2

[Don’t know, can'’t say] O 88

[Refused] O 99
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113. Which level of education did you not complete?

MULTIPLE CHOICE.
Hand showcard Q13.
incvoc Secondary vocational, no maturita exam 4 e o]
incsec Lower secondary vocational, no maturita exam 4
incvocma Secondary vocational, maturita exam 4
inctech Secondary technical, maturita exam 4
incgram Secondary general, maturita exam (gymnasium) 4
incposts Follow-up secondary programme, maturita exam 4
inchvoc Tertiary, professional Bachelor's degree P
incbac Tertiary, academic Bachelor’s degree D1
incmas Tertiary, Master’s degree 4
incdoc Tertiary, Doctoral degree O,
incdk [Don’t know, can't say] O+
incref [Refused] O+

114. Are you currently still studying (mainly) <w1_stype>?

Yes O 1
std=1
No O, AND
wi_std =1
AND

[Don’t know, can’t say]

wl_stype=1|2|3|4
|15]16]7]8]9]10]11

[Refused] O99 11213114
IF stypech = 1 => stype = w1_stype
IF stypech = 88/99 => stype = 88/99
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I15. What are you currently studying? During the summer holidays, please refer to
what you are going to study in the next academic year. Please use this card.
If the respondent is not sure what they are going to study after the holidays, they should refer to
what they studied before the holidays.

Hand showcard Q15, 24.
Course to complete basic education O 1 L capit=1___|

((w1_std =2 OR

Secopdary technical/vocational school, no maturita exam; O ) wi_stype = 88 | 99)
practical school AND

. . . std =1)
Secondary technical/vocational school, maturita exam O 3 OR

] stypech =2
Gymnasium @) 4
Follow-up secondary programme, maturita exam O 5
std=1

Conservatory O 6
Retraining course at the secondary level O 7
Language post-secondary course; IT course O 8

Retraining course or vocational training following completed O
secondary education 9

Tertiary professional school — to obtain a Qualified O
Specialist’s (DiS.) degree etc. 10

Bachelor’s degree programme — to obtain a degree such as O
11

Bc. or BCA.

Master’s degree programme — to obtain a degree such as O

Mgr., Ing., JUDr., MUDr. or PhDr. 12

Doctoral degree programme — to obtain a degree such as O

Ph.D. or Th.D. 13
Other (such as a college preparatory or lifelong learning O

COUISE). SPECITY: coeeevrrerrrrrrrrrisrsieeieeeeeeseseeeeeeeeeeeesnnnns 14

[Don’t know, can'’t say] O 88

[Refused] O 99

| capil=1__|

I116. Is your (main) course of study still at <w1_sname1>?

Yes O 1

wi_std =1
No O, AND
w1_sname1 ~= 88 & 99
AND
[Don’t know, can’t say] O 88 std =1
[Refused] O 99
IF snameich = 1 => sname1 = w1_sname1
IF sname1ch = 88/99 => sname1 = 88/99
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117. —119. Which school are you currently attending? During the summer holidays,
please refer to the school you are going to attend in the next academic year. Please
tell me the name and address (city, street). For colleges or universities, specify the

faculty as well.

If the respondent is not sure where they are going to study after the summer holidays, they should

refer to where they studied before the holidays.

Write in.

m For colleges or universities, specify the faculty as well.
school Name: ........cociiiiiiiii s

[Don’t know, can'’t say]

[Refused]

sstr1 Street: ..o e e

[Don’t know, can’t say]

[Refused]

Specify district for schools in Prague (e.g., Praha 1).
municipality:

[Don’t know, can'’t say]

[Refused]
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O99

OSS
099

capi1 =1

((w1_std =2 OR
w1_sname1 = 88 | 99)
AND std =1)

OR
snameich =2

capi1 =2

std=1

((w1_std =2 OR
w1_sname1 = 88 | 99)
AND std =1)

OR
snameich =2

std =1

((w1_std =2 OR
w1_sname1 = 88 | 99)
AND std = 1)

OR
snameich =2

std=1
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120. Is your (main) study major still <w1_sprog1>?

Yes O 1
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99

IF sprogich =1 => sprog1 = w1_sprog1

IF sprog1ch = 88/99 => sprog1 = 88/99

121. And what is your study programme?

[Don’t know, can’t say] O 88
[Refused] O 99

w1_std =1
AND
w1_sprog1 ~= 88 & 99
AND
std=1

((w1_std =2 OR
w1_sprog1 =88 | 99)
AND std = 1)

OR
sprogich =2

std =1

122. You said that your current study is different from the last year’s one. Could you

specify how your last year’s study ended?
| completed it successfully O 1
| interrupted it without completion O 2

Another way of ending study (dropping-out, expulsion, etc.) O 3

Other answer. Specify: ......ccoviiiiiiiiiiii e O 4
[Don’t know, can’t say] O 88
[Refused] O 99
123. Are you currently studying something else?
Yes O 1
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99
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124. What are you currently pursuing as your second course of study? During the
summer holidays, please refer to what you are going to study in the next academic
year. Use this card.

Hand showcard Q15, 24.

Course to complete basic education O 1
snext =1

Secondary technical/vocational school, no maturita exam; O

practical school 2
Secondary technical/vocational school, maturita exam O 3
Gymnasium O 4
Follow-up secondary programme, maturita exam O 5
Conservatory O 6
Retraining course at the secondary level @) 7
Language post-secondary course; IT course O 8

Retraining course or vocational training following completed O
secondary education 9

Tertiary professional school — to obtain a Qualified O
Specialist’s (DiS.) degree etc. 10

Bachelor’s degree programme — to obtain a degree such as O
11

Bc. or BCA.
Master’s degree programme — to obtain a degree such as O
Mgr., Ing., JUDr., MUDr. or PhDr. 12
Doctoral degree programme — to obtain a degree such as O
Ph.D. or Th.D. 13
Other (such as a college preparatory or lifelong learning

stypeo2 course). Specify: O 14
[Don’t know, can’t say] O 88
[Refused] O 99

125. What is the main area, specialization of your current second study?

When there are several study programmes, pick the one that is more important to the respondent.

Hand showcard Q25.
Basic/broad general programmes O 1
snext =1

Personal skills O 2
Teacher training and education science O 3
Arts (fine arts, design, music, performing arts) O 4
Humanities (religion, foreign languages, mother tongue, O

philology, philosophy, history) 5

11/130
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Social and behavioural science (sociology, political O
science, economics, psychology) 6

Journalism and information (journalism, library) O 7

Business and administration (wholesale and retail sales, O
marketing, banking, accounting and taxation, management)

Law O 9

Life science (biology, biochemistry, environmental science) O 10

Physical science (physics, chemistry, Earth science) O 1
Mathematics and statistics O 12
Computing O 13

Engineering and engineering trades (mechanics, electricity, O
electronics) 14

Manufacturing and processing (food processing, clothes O
and footwear, materials, mining and extraction)
Architecture and building O 16
Agriculture, forestry and fishery (including horticulture) O 17
Veterinary O 18
Health (nursing, dental studies, pharmacy, medicine) O 19
Social services O 20
Personal services (hotel, restaurant, catering, tourism,
leisure, sports, domestic services, hair and beauty O 21
services)
Transport services O 22
Environmental protection O 23
Security services (protection of persons and property, O

il 24
military and defence)
The programme can’t be classified O 25
[Don’t know, can’t say] O 88
[Refused] O 99
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126. — 128. At which school are you currently pursuing your second study? During the
summer holidays, please refer to the school you are going to attend in the next
academic year. Please tell me the name and address (city, street). For colleges or
universities, specify the faculty as well.

Write in.

For colleges or universities, specify the faculty as well.

snext = 1
school NAaMe: .......coiiiiiii
[Don’t know, can’t say] O 88
[Refused] O 99
street: .o
snext =1
[Don’t know, can’t say] O 88
[Refused] O 99
Specify district for schools in Prague (e.g., Praha 1).
municipality: snext =1
[Don’t know, can’t say] O 88
[Refused] O 99

m 129. What is your study programme in your second
course of study? snext = 1

[Don’t know, can’t say] O 88

[Refused] O 99

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016 13/130



| capi1=2_
130. Have you ever interrupted your studies due to, for example, your job,
maternity/parental leave or military service, and then completed your studies later?

Yes O 1

educ=1|2]|3|4]|5]|6
No O, 718191011
[Don’t know, can’t say] O 88
[Refused] O 99

___capit=2
?
131. If so, for how many years~
Round the answer up or down to the nearest whole year.
Write in number.
............................................................................. Sinter = 1
[Don’t know, can’t say] O 888 888
[Refused] O 999 999

| capi1=2 |
132. Did you undertake your tertiary studies at a public, private or another type of

college/university?

Public college/university O 1
educ=9|10| 11
Private college/university O 5 OR
incbac =1
Police college/university O 3 OR
incmas =1
Military college/university O 4 OR
incdoc =1
| studied at several types of colleges/universities O 5
[Don’t know, can’t say] O 88
[Refused] O 99
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eduseco

133. Could you please specify the type of high school that you attended?

Hand showcard Q33.
Practical or vocational school, no apprenticeship certificate
Secondary vocational school, apprenticeship certificate
Secondary vocational school, maturita exam
Secondary technical school, maturita exam
4-year gymnasium
6-year gymnasium
8-year gymnasium
Conservatory, 2 years or shorter
Conservatory, more than 2 years

Other type of high school. Specify: .......c.cccvvvieiinnnne.

[Don’t know, can'’t say]

[Refused]

O,

wil_stype=2|3|4|5
|6
AND
(send=1]2|3|4
OR
nsend=1|2| 3] 4)

educ=3|4|5|6]|7]|8
19110 ]| 11
OR
incvoc =1
OR
incsec =1
OR
incvocma =1
OR
inctech =1
OR
incgram =1
OR
incposts =1

134. Could you please specify the type of basic school that you attended?

Hand showcard Q34.
Basic school (“normal” one, without further specification)
Basic school with extended language teaching

Practical basic school (for students with intellectual
disabilities)

Special basic school (for special-needs students)

Alternative-curriculum basic school (Waldorf, Montessori,
etc.)

Other type of basic school. Specify: ........c.cccuuuee.e.

[Don’t know, can’t say]

[Refused]
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I135. And also, have you ever attended a primary-level art school?

No O 1
Yes, for a total of 1 year O 2
Yes, for a total of 2-3 years O 3
Yes, for a total of 4-5 years O 4
Yes, for a total of 6-7 years O 5
Yes, for more than 7 years O 6
[Don’t know, can’t say] O 88
[Refused] O 99
|____capil=2 |
I136. During your time in basic or high school, were you ever assigned to a track for
gifted or high-ability students (with intensive teaching of a language, maths, etc.)?
No O 1
educ=1|2|3]|4|5]|6
Yes, in basic school 02 |718]9]10]11
Yes, in high school O 3
Yes, in both basic and high school O4
[Don’t know, can'’t say] O 88
[Refused] O 99

I137. Was your entry to primary school delayed, or did you repeat a grade?

Grade repetition pertains to both basic and high school.

No O 1
Yes, my entry to primary school was delayed O 2
Yes, | repeated a grade O 3
Yes, my entry to primary school was delayed and | repeated O A
a grade

[Don’t know, can’t say] O 88
[Refused] O 99

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016 16/130



I138. Since we last interviewed you on <date>, have you attended a school abroad?

138. During your life, have you ever attended a school abroad (i.e. outside the Czech
Republic or Czechoslovakia)?

Studying abroad includes student exchange, the Erasmus programme, studying while the family
lived outside the CR, etc.

Ves O,
No O 2 St(d)I: 1
w1_std =1
[Don’t know, can'’t say] O 88
[Refused] 099 educ=1|2|3|4]|5]|6
[718]9]10]11

139. What is your level of command of the following languages?

If the respondent speaks several additional languages, they should refer to the one they have the
best command of.

Fluent Active Passive [Don’t know,
command command command Can’t use can't say] [Refused]
English
alng g C)1 OZ O3 O4 O88 C)99
ging G
- erman O1 OZ O3 O4 Ogg Ogg
fing
French
O 1 O 2 O 3 O 4 O 88 O 99
ring Russi
ssian
Hes! O 1 O 2 O 3 O 4 O 88 O 99
oing
D — Other:
Tomgtp | e O, 0, O, 0, O O
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We now have some questions about work and employment.

|___capi1=1___
Now we would like to learn about your job activity between our last interview on <date>
and the present day.

Let me remind you that last time we interviewed you, you were <w1_estat>.

140. Have you been working throughout this whole period?

That is continuously, i.e. there was no spell of unemployment, maternity leave, etc.

Yes O 1

No O ) etran = 1

[Don’t know, can’t say] O 88

[Refused] O 99

| capit=1
141. Could you please tell me the reason you have not been working throughout this
whole period?
Hand showcard Q41.
Due to health problems O1
jobsn =2
Quit job because it was too demanding O 2
:: was too expensivg to employ someone to look after the O s
ousehold and family

Because | wanted to look after my children or grandchildren O 4

Because | was dismissed or made redundant O 5

My previous job was seasonal O 6

Because there was sufficient income in my family O 7

Long-term unemployment (6 months or more) O 8
Other reason. SPecCify: .....cccoviiiiiiiiii e, O 9

[Don’t know, can’t say] O 88

[Refused] O 99

18/130

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016



142. And have you changed employers since then?

Yes, once O1
jobsn =2
Yes, twice or more O 2
No O 3
[Don’t know, can’t say] O 88
[Refused] O 99
|___capit=1___
143. When did you stop working in the job with your previous employer?
That is the employer preceding the current one.
January @) 1 2015 @) 2015
February O 2 2016 O 2016
March O 3 [Don’t know, can't say] O 888 888
April O, [Refused] O 999 999
May O 5
June @) 6
July O ) empch=1|2
August O 8
September O 9
October O 10
November O 1
December O 12
[Don’t know, can’t O 88
say]
[Refused] O 99
|___capit=1

144. When we last interviewed you on <date>, you were unemployed. Have you been
unemployed the whole time since our last interview?

Yes O 1

etran =9
No O 9
[Don’t know, can’t say] O 88
[Refused] O 99
19/130
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Yes, one
Yes, several

No

[Don’t know, can'’t say]

[Refused]

____capi1=1___
145. Since our last interview on <date>, have you had any job?

O,
etran=5|6|8
Oz OR
usince = 2
O,
O88
099
[ __capit=1_ |

146. What was your status in this job? If you have had multiple jobs since our last

interview, please refer to the last one.

Hand showcard Q46.

Employee, full-time

Employee, part-time (1/2 FTE or more)

Employee, small part-time (less than 1/2 FTE)

Self-employed
Liberal profession
Co-working family member

Working pensioner

[Don’t know, can'’t say]

[Refused]
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147. What was your job?

Describe in words the main job. Record as much detail as possible, for example, “motor plant
assembly line operator”. For self-employed persons, specify industry/subject of activity.

CZ-ISCO coding of swrkps

ssvise

[Don’t know, can’t say]

[Refused]

[Don’t know, can’t say]

[Refused]

Yes

No

[Don’t know, can'’t say]

[Refused]

O jsome=1]2
88
O 99
O 888 888
O jsome=1]2
999 999
| capit=1__|

148. Did you have any responsibility for supervising the work of other employees?

O,
sestat=1|2|3|5]|6

O, |7

OBS
099

149. Besides yourself, did you employ any other people?
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No

[Don’t know, can'’t say]

[Refused]

sestat =4
O,
OBS
099
21/130



| capi1=1__|
150. What type of employment contract did you have?

Permanent contract O 1

sestat=1|2|3|5|6
Fixed-term contract O 2 |7
Temporary contract O 3
No contract O 4
[Don’t know, can’t say] O 88
[Refused] O 99

___capil=1__|
151. How many hours weekly, on average, did you work for pay?

Write in number. Round to the nearest hour.

jsome=1]2
[Don’t know, can’t say] O 888 888

[Refused] O 999 999

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016 22/130



|____capit=1___|
152. What was the reason you stopped working in the job with your previous employer?

Hand showcard Q52.

Was made redundant (business reorganization, going out of O
1

business, etc.) empch=1]2
OR
Was dismissed for other reasons (qualification, O etran =3
2 OR

performance, workplace conflicts, etc.) .
jsome=1]2

For family reasons (family events, moving, change in health O
3

condition)

Termination of employment after the probationary period O4
It was a seasonal job O 5
For financial reasons @) 6
A good opportunity came up O 7
Pursued better working conditions O 8

Opportunity to make better use of qualifications, get a more O
interesting job 9

Tried to run own business @) 10
Retired O 11
Appgrent reasons (maternity leave, military service, end of O .
studies)

Other reasons. Specify: ... O 13
[Don’t know, can'’t say] O 88
[Refused] O 99

____capi1=1__|
I153. Since we last interviewed you on <date>, have you been unemployed for some
time?

Yes O 1

jobsn =2
No O, OR
etran =4
[Don’t know, can'’t say] O 88
[Refused] O 99
23/130
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umany

Once
Twice

Three or more times

[Don’t know, can’t say]

[Refused]

January

February
March

April

May

June

July
August
September
October
November

December

Already unemployed at the
time of the last interview

[Don’t know, can’t say]

[Refused]

Beginning of the (first) period of unemployment:

ustarty1

2015
2016

Already unemployed at
the time of the last
interview

[Don’t know, can’t say]

[Refused]

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

154. Could you please tell me how many times you have been unemployed since we
last interviewed you on <date>?

usome =1
OR
etran=3|6|7]|8

155. Since our last interview, in what period have you been unemployed? If you have
been unemployed multiple times, tell me about all those time periods.

umany=1[2]|3
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January
February
March
April

May

June

July
August
September
October
November
December

Still unemployed

[Don’t know, can'’t say]

[Refused]

156. End of the (first) period of unemployment:

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

2015
2016

Still unemployed

[Don’t know, can’t say]

[Refused]

umany=1|2|3
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I157. Beginning of the second period of unemployment:

January O 1 2015 O 2015

February O 2 2016 @) 2016

March O 3 [Don't know, can'tsay] (O 588 588

April O, [Refused] O 999 999

May O 5

une O ) umany =2 |3

July O 7

August O 8

September @) 9

October @) 10

November @ 1

December O 12

[Don’t know, can’t say] O 88

[Refused] O 99

| capil=1___|

158. End of the second period of unemployment:

January @) 1 2015 O 2015

February O 2 2016 O 2016

March O 3 Still unemployed O 999 996

Apri O . [Don'tknow, can'tsay] (O 888 838

May O 5 [Refused] O 999 999

June O 6

sy O ] umany =2 |3

August O 8

September O 9

October O 10

November O 11

December O 12

Still unemployed O 96

[Don’t know, can’t say] O 88

[Refused] O 99
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159. Beginning of the third period of unemployment:

January O 1 2015 @) 2015
February O 2 2016 O 2016
March O 3 [Don't know, can'tsay] (O 888 888
April Q, [Refused] O 999 999
May O 5
June O 6 ey =3
July @) 7
August O 8
September O 9
October O 10
November O 1
December O 12
[Don’t know, can’t say] O 88
[Refused] O 99

| capil=1___|

160. End of the third period of unemployment:

January @) 1 2015 O 2015
February @) 2 2016 O 2016
March O 3 Still unemployed O 999 996
April O . [Don'tknow, can'tsay] () 888 888
May O 5 [Refused] O 999 999
June O 6

sy O ] umany = 3
August O 8

September O 9

October O 10

November O 11

December O 12

Still unemployed O 96

[Don’t know, can’t say] O 88

[Refused] O 99
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161. Have you been looking for work since our last interview on <date>?

Yes O 1
etran =5
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99
162. Why have you been looking for work?
Hand showcard Q62.
To stay active O 1
w1_estat =11
To make some extra money O 2 AND
estat = 11
To be able to make ends meet @) 3 AND
jlookn =1
| like working O 4
To try a new job O 5
To be in touch with people O 6
Other reason. SPecify: .....coviviiiiiiiiiiii O 7
[Don’t know, can’t say] O 88
[Refused] O 99
___capil=1__|
163. How did you proceed when looking for work at this time? ”Sirglg .
jlookn =1
163. How did you proceed when looking for work during this
<first/second/third> period? umany=1|2]|3
MULTIPLE CHOICE.
Hand showcard Q63.
jlemof(x) | visited my local employment office P
LOOP = umany
jlemag(x) | visited a recruitment agency P
umany=1|2|3
jlempl(x) | contacted an employer directly 14 OR
usince =1
jlifam(x) | asked my family or friends for help mp OR
jlookn =1
jladve(x) | looked up advertisements in the newspapers, online, etc. 4
jlelse(x) Something else. What? ................. k.. jlwhat(x) 4
jlnot(x) | was not looking for a job mp
[Don’t know, can’t say] |:|1
jlref(x) [Refused] 14
___capil=1___
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164. Since our last interview, have you had one job (the current one) or several jobs?

One (the current one)

Several

[Don’t know, can’t say]

[Refused]

O,
etran=4

O,

O88

C)99

165. And when did you start working for your current employer? That is when you

started/resumed working after our last interview.

January O 1
February O 2
March O 3
April O,
May O 5
June @) 6
July O 7
August O 8
September O 9
October O 10
November O 1
December O 12
[Don’t know, can’t O 88
say]

[Refused] O 99

jstarty

2015
2016

[Don’t know, can’t say]

[Refused]

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016
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|____capit=1___
166. You said that you are currently on maternity/parental leave. Could you please tell
me when you started your leave?

Women should report the beginning of maternity leave, men the beginning of parental
leave. l.e., after the last interview.

January O1 2015 02015
February O 2 2016 O 2016
March O 3 [Don’t know, can’t say] O 888 888
April O, [Refused] O 996 999
May @) 5
estat =13

June O 6 AND

w1 _estat=1|2]3|4
July O, |5[6]7]8]9[10] 11

|12]114 88|99

August O 8
September O 9
October @) 10
November O 1
December O 12
[Don’t know, can’t O 88
say]
[Refused] O 99
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January
February
March
April

May

June

July
August
September
October
November
December

Already retired prior
to the last interview

[Don’t know, can'’t say]

[Refused]

previous job.

Yes

No

[Don’t know, can'’t say]

[Refused]

167. You said that you are currently retired. Could you please tell me when you took up
your retirement?

pstarty

2015 O 2015
2016 O 2016
Already retired prior to the last O 999 996
interview

[Don’t know, can’t say] O 888 888
[Refused] O 999 999

estat = 11
AND

w1 _estat=1|2]3|4
|1516]7]8]9]10]12

[13 148899
168. Are you about to start a new job soon? Please also include returning to your
O,
etran=3|5|6|8|9
O,
Osa
Ogg
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169. When are you starting this job?

January O1 2016 O2O16
February @ 5 2017 O 2017
March O 3 [Don’t know, can’t say] O 888 888
April O 4 [Refused] O 999 999
May O 5
June O 6 e
July O 7
August O 8
September O 9
October O 10
November O 11
December O 12
[Don’t know, can'’t O 88
say]
[Refused] O 99
___capit=1__
170. What is your status going to be?
Hand showcard Q70.
Employee, full-time O 1
jnew =1

Employee, part-time (1/2 FTE or more)
Employee, small part-time (less than 1/2 FTE)
Self-employed

Liberal profession

Co-working family member

Working pensioner

[Don’t know, can'’t say]

[Refused]
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32/130



171. What is your job going to be?

Describe in words the main job. Record as much detail as possible, for example, “motor plant
assembly line operator”. For self-employed persons, specify industry/subject of activity.

[Don’t know, can'’t say]

[Refused]

CZ-ISCO coding of nwrkps

[Don’t know, can'’t say]

[Refused]

jnew =1
O 88
O 99
O 888 888
O jsome=1]|2
999 999

___capi1=1__|
172. What type of employment contract are you going to have?

Permanent contract
Fixed-term contract
Temporary contract

No contract

[Don’t know, can'’t say]

[Refused]

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

nestat=1]2|3|5|6

O, |7
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173. Last year you described your job as <w1_wrkps>. Does this still apply to your
current job?

If the respondent has more than one job, ask about the one, which occupies them for the most
hours per week. If they have two jobs that occupy them for the same number of hours, ask about

the more highly paid job.
Yes, it is the same O 1
etran =1
No, it is different O 2 AND
w1_wrkps ~= 88 & 99
[Don’t know, can'’t say] O 88
[Refused] O 99
IF wrkpsch = 1 => wrkps = w1_wrkps
IF wrkpsch = 88/99 => wrkps = 88/99
T
I174. Last year you <had> (IF w1_svise = 1) / <did not have> (IF w1_svise = 2) responsibility
for supervising the work of other employees. What about now? Do you currently

have any responsibility for supervising the work of others?

If the respondent has more than one job, ask about the one, which occupies them for the most
hours per week. If they have two jobs that occupy them for the same number of hours, ask about

the more highly paid job.
Yes, | do

No, | do not

[Don’t know, can'’t say]

[Refused]

IF svisech = 1/2/88/99 => svise = svisech

O;,
wi_estat=1]2|3|5
O, 1619
AND
estat=1[2]3|5|6]9
Ogg AND
w1_svise=1|2
C)99

175. Last year you supervised <w1_subor> employees. Is this still the case?

If the respondent has more than one job, ask about the one, which occupies them for the most
hours per week. If they have two jobs that occupy them for the same number of hours, ask about

the more highly paid job.
Yes, the same number of employees

No, a different number of employees

[Don’t know, can'’t say]

[Refused]

IF suborch = 1 => subor = w1_subor
IF suborch = 88/99 => subor = 888 888/999 999

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

O,
svisech =1
O, AND
w1_subor

((>=1 & <888 888) |
Ogs  (>888 888 & <999 997) |
(>999 997 & <999 999) |

O 9 >999 999)
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___capil=1__|
176. Last year you <employed> (IF w1_empl= 1) / <did not employ> (IF w1_empl = 2) other
people besides yourself. What about now? Besides yourself, do you currently

employ any other people?

If the respondent has more than one job, ask about the one, which occupies them for the most
hours per week. If they have two jobs that occupy them for the same number of hours, ask about

the more highly paid job.
Yes, | employ someone else O 1
w1_estat =4
No, | do not employ anyone else O 2 AND
estat =4
AND
[Don’t know, can’t say] O 88 wi_empl=1]2
[Refused] O 99
IF emplich = 1/2/88/99 => empl = empich

___capi1=1___|
177. Last year you had <w1_empls> employees. Is this still the case?

If the respondent has more than one job, ask about the one, which occupies them for the most
hours per week. If they have two jobs that occupy them for the same number of hours, ask about

the more highly paid job.

Yes, the same number of employees O 1
emplch =1
No, a different number of employees O 2 AND
w1_empls
((>=1 & <888 888) |
[Don’t know, can't say] O 88 (>888 888 & <999 997) |
(>999 997 & <999 999) |
[Refused] O 99 >999 999)
IF emplsch =1 => empls = w1_empls
IF emplsch = 88/99 => empls = 888 888/999 999
35/130
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|____capi1=1__

178. Last year, <w1_fsize> people were employed by the organization/company for which
you worked (that is at the place where you worked). Is this still the case?

If the respondent has more than one job, ask about the one, which occupies them for the most

hours per week. If they have two jobs that occupy them for the same number of hours, ask about

the more highly paid job.
Yes, it is still the case O 1
w1 _estat=1]|2]3|9
No, it is different now O 2 AND
estat=1|2]3|9
AND
[Don’t know, can’t say] O 88 wi_fsize=1]2]3]|4|5
|6
[Refused] O 99
IF fsizech = 1 => fsize = w1 _fsize
IF fsizech = 88/99 => fsize = 88/99
___capil=1___

179. Last year, the type of employment contract you had in your main job was
<w1_contr>. Is this still the case?

If the respondent has more than one job, ask about the one, which occupies them for the most
hours per week. If they have two jobs that occupy them for the same number of hours, ask about

the more highly paid job.
Yes, it is still the case O 1
wil_estat=1]|2|3|5
No, it is different now O, 1619
AND

estat=1]2|3]|5|6|9
[Don’t know, can’t say] O 88 AND

wil_contr=1]2|3|4
[Refused] O 99

IF contrch = 1 => contr = w1_contr

IF contrch = 88/99 => contr = 88/99
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180. Can | just check, did you do any paid work of an hour or more in the last 7 days?

Yes O 1

estat=7|8|10|11 |12
No O, |13 14|88 | 99
[Don’t know, can’t say] O 88
[Refused] O 99

| capi1=2
181. Have you ever had a paid job?

Yes O 1
job=2]88]99
No O 2
[Don’t know, can'’t say] O 88
[Refused] O 99

182. And in your job, were you...

If the respondent did any paid work in the last seven days, ask about that m
job. If the respondent had a paid job in the past, ask about their last job.

An employee (work based on an employment contract, a O L capi1=1___|
1

temporary contract, or without a contract)

job=1
Seff-employed O:  mmrrmErm—
[Don’'t know, can’t say] O 88 jog;
[Refused] Oy Jobbf =1
In questions 83 to 102 below:
If the respondent is currently in paid work, ask about their current job. If
not in paid work but had a paid job in the past, ask about their last job.
| capi1=2

If the respondent has more than one job, ask about the one, which
occupies them for the most hours per week. If they have two jobs that
occupy them for the same number of hours, ask about the more highly
paid job.

In questions 83 to 102 below:

If the respondent has more than one job, ask about the one, which

occupies them for the most hours per week. If they have two jobs that ___capil=1___|
occupy them for the same number of hours, ask about the more highly

paid job.
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183. What is your job at present?

183. What is your job? (What your last job?)

Describe in words the main job. Record as much detail as possible, for example, “motor plant
assembly line operator”. For self-employed persons, specify industry/subject of activity.

[Don’t know, can’t say]

[Refused]

CZ-ISCO coding of wrkps

[Don’t know, can'’t say]

[Refused]

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

O job=1

OR

O 88 wrkpsch = 2
OR

% etran=4|7
OR

(w1_wrkps = 88 | 99
AND etran = 1)

estat=1]2]3]4|5|6
9

O job=1
OR
999999 wrkpsch = 2
OR
etran=4|7
OR
(w1_wrkps =88 | 99
AND etran = 1)

| capi1=2 |
estat=1|2]3|4]|5]|6
|9
OR
job=1

OR
jobbf = 1
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184. Do you have any responsibility for supervising the work of other employees?

184. Do/did you have any responsibility for supervising the work of other employees?

Yes

No

[Don’t know, can’t say]

[Refused]

O, —
02 jobtp =1
OR
O (estat=1[2|3]|5]|6]9
88 AND
O (etran=4|7 OR
99 (wl_estat=1]2[3|5

| 6|9 AND w1_svise =
88| 99) OR
w1_estat = 4))

estat=1|2|3]|5]|6|9
OR
jobtp =1

185. How many employees do you supervise in your main job?

185. How many employees do/did you supervise in your main job?

[Don’t know, can'’t say]

[Refused]

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

[ _capit=2 |
O svise =1
OR
888 888 suborch =2
O 999 999 OR

(svisech =1 AND
w1_subor = 888 888
| 999 999 | 999 997)

svise =1
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186. Besides yourself, do you employ any other people?

186. Besides yourself, do/did you employ any other people?

capi1 =2

Ves O,
jobtp =2
(estat =4
AND
[Don’t know, can’t say] O 88 (etran=4|7 OR
O (w1_estat =4 AND
[Refused] 99 w1_empl =88 | 99) OR

w1 _estat=1]2]|3|5
[619)

estat =4

OR
jobtp =2

187. How many employees do you have in your main job?

___capit=2
187. How many employees do/did you have in your main job?
............................................................................ empl =1
[Don’t know, can'’t say] O IORh )
emplsch =
888 888 OR
[Refused] O 999 999 (empich =1 AND

w1_empls = 888 888
| 999 999 | 999 997)

empl =1
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188. How many people are employed by the organization/company for which you work
(refer to the place where you work)?

188. How many people are/were employed by the organization/company for which you
work/worked (refer to the place where you work/worked)?

0 O, HEEETIEIEE
jobtp =1
1-9 O 2 OR
fsizech = 2
10-24 O, OR
(estat=1]2]3]9
25-99 O, AND
(etran=4|7 OR
100-499 O, (w1_estat=1[2]3]9
AND w1_fsize = 88 | 99)
500 or more O 6 OR w1_estat = 4))
| capi1=2
[Don’t know, can’t say] O 88 estat=1[2]39
OR
[Refused] Oy fobtp =1

189. How many hours weekly, on average, do you work for pay?

estat=1|2|3|4]|5
1619

[Don’t know, can’t say] O 888 888 . SR 1

Job =

[Refused] O 999 999

190. In addition to your current main job, do you have any additional source of income,
such as a side job or a business? Please choose your answer from the card.
Hand showcard Q90.
No additional source of income O 1

estat=1|2|3|4]|5
Employee in a government-owned business or a public O |6]9
2

organization OR
job=1

Employee in a private business O 3

Own business O 4

Temporary jobs O 5

Other O 6

[Don’t know, can’t say] O 88

[Refused] O 99
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191. How many hours weekly, on average, do you work in any additional paid jobs or
other gainful activities?

Write in number. Round to the nearest hour.

.......................................................................... adinc=2]3]4|5]|6

[Don’t know, can’t say] O 888 888

[Refused] O 999 999

192. What type of employment contract do you have in your main job? Choose one from
the card.

If the respondent has more than one job, ask about the one, which occupies them for the most
hours per week. If they have two jobs that occupy them for the same number of hours, ask about

the more highly paid job.
Permanent contract O 1 mn—
Fixed-term contract O ) J'Obg;: 1
Temporary contract O 3 00“13;? =2
No contract O, (estat=1 Lﬁll;i 151619

(etran=4]7 OR
O (wi_estat=1]2]3]|5]|
88 6|9 AND w1_contr = 88
O % | 99) OR w1_estat = 4))

estat=1|2|3]|5]|6|9
OR
job=1

[Don’t know, can’t say]

[Refused]
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193. Would you prefer to have a permanent job (i.e. a permanent contract)?

Yes O 1
contr=2|3]|4
No O 2
[Don’t know, can't say] O 88
[Refused] O 99

194. How likely are you to get a permanent contract in your current main job?

Very unlikely O,
contr=2|3]|4
Somewhat unlikely O 2
Neither unlikely nor likely O 3
Somewhat likely O,
Very likely O
[Don’t know, can’t say] O 88
[Refused] O 99
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195. Considering your experience, education, and professional skills, do you feel that
you are overqualified for your current job?

Yes O 1
estat=1|2|3|4|5
No O, 16]9
OR
job=1
[Don’t know, can’t say] O 88
[Refused] O 99
196. How satisfied are you with your current job? Please use this card, where 1 means
satisfied, and 5 means dissatisfied.
Hand showcard Q96.
estat=1|2|3]|4|5]|6
|9
OR
satisfied dissatisfied [El90
1 2 3 4 5 [Don’t know,
can't say] [Refused]

O1 Oz Os O4 Os O88 O99

197. Do you ever work overtime in your current job?

Yes O 1
No Oz estat=‘||(|;|2$|,3|4|5
) OR
[Don’t know, can’t say] O " job=1
[Refused] O .
198. When you work overtime, do you get overtime pay?
Always O 1
workov =1
Most of the time O )
Sometimes O 5
Rarely O .
Never O ]
[Don’t know, can’t say] O 68
[Refused] O .
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fprom

fover

fred

wevent
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199. In your current main job, would you like to work the same number of hours, more

hours or fewer hours?
More
The same

Fewer

[Don’t know, can'’t say]

[Refused]

O,
estat=1|2|3|4|5
O, 1619
OR
O, job =1
C>88
C>99

1100. In the last year, has it happened in your current main job that you had to, because

of your family responsibilities, ...

Yes
turn down a career
advancement? O,
refuse to work overtime? O
1
reduce your working hours? ®
1

[Don’t know, _
No can't say] [Refused] estat=1]2|3]4]5
16]9
OR
O, Ogg O job=1

OZ OBS 099
OZ OSS O99

1101. In the last year, has it happened that you, because of your job responsibilities, ...

Yes
missed a family occasion or
holiday? O,
were unable to do the work
you usually do around the O
house? 1

[Don’t know,
No can't say] [Refused] estat=1[2]3|4]|5
|6]9
OR
O, O O job=1

OZ OSS 099

1102. To what extent is your health at risk because of your work?

Not at all at risk
Not much at risk
Somewhat at risk

Definitely at risk

[Don’t know, can'’t say]

[Refused]

estat=1|2|3]|4]|5
O, 1619

OR

O, job =1
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1103. Since when have you been unemployed?

Record year in the format YYYY.

January O 1
February O 2 [Don’t know, can’t say] O 888 888
March @) 3 [Refused] O 999 999

April O,
May O 5
June O 6
July O 7

August @) 8
September O 9
October O 10
November O 11
December O 12

[Don’t know, can’t O 88
say]

[Refused] O 99

estat=7

1104. Using this card, could you please tell me the main reason you stopped working?

Hand showcard Q104.

Made redundant, the whole company stopped operating,
restructuring

Termination by employer

Fixed-term employment contract ended

Went out of business or shut down/sold a family business
Termination by yourself due to conflict at work
Termination by yourself to care for a family member
Termination by yourself for other reasons

You never had a job

[Don’t know, can’t say]

[Refused]
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1105. In our society, there are people who belong to the rich and people who belong to
the poor. Where would you place yourself?

Hand showcard Q105.
10 = the rich 010
9 O,
8 Oy
7 O,
6 Os
5 Os
4 O,
3 O,
2 O,
1 = the poor O 1
[Don’t know, can’t say] O 88
[Refused] O 99
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part
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Now | am going to ask you a few questions about your relationships,

family life and opinions.

1106. Are you currently having an intimate (couple) relationship with someone you’re

not living with?
Yes

No

[Don’t know, can’t say]

[Refused]

DERIVED VARIABLE

whether the respondent currently has a partner/spouse

Yes | mstat = 2

No: date =2 AND mstat =3 | mstat=4 | mstat =5

date = 1 OR livesp = 1 OR livewith = 1 OR mstat = 1

107. You also said that you were having a serious relationship when we last

interviewed you. Is it still with the same partner?

Yes

No

[Don’t know, can'’t say]

[Refused]

O,
livesp = 2
O 2 AND
livewith = 2
O 88
O 99
O,
O,
O,
w1_date =1
O, AND
date =1
O 88
O 99
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1108. When did your relationship start?

Record year in the format YYYY.

January O L,
February O 2 [Don’t know, can’t say] O 888 888
March O 3 [Refused] O 999 999
April O,
May Os
June Os sdate =2 | 88 | 99 | 97
July O, daﬁ: 2
August O  capii=2 |
September O 9 date = 1
October @) 10
November O 11
December O 12
[Don’t know, can’t O 88
say]
[Refused] O 99
1109. Are you and your partner not living together because you or your partner don’t
want to or because circumstances are preventing you? Please choose your answer
from the card.
Hand showcard Q109.
| want to live apart O 1
date =1
Both my partner and | want to live apart O 2
My partner wants to live apart O 3
Circumstances are preventing us O 4
[Don’t know, can’t say] O 88
[Refused] O 99
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Definitely yes
Probably yes
Probably not

Definitely not

[Don’t know, can’t say]

[Refused]

Yes

No

[Don’t know, can’t say]

[Refused]

Yes

No

Marital status was recorded incorrectly last year

[Don’t know, can’t say]

[Refused]

Hand showcard Q113, 115.

Married

Registered same-sex partnership
Divorced

Widowed

Single, never married

[Don’t know, can’t say]

[Refused]

1110. Are you planning to start living with your partner during the next 3 years?

1111. Are you planning to marry your partner during the next 3 years?

0.
02 date =1
O,
O,
C>88
O99
O,
O2 IivevggI=1
date =1

OSB
099

| capi1=1___

1112. Last time we interviewed you on <date>, your marital status was <w1_mstat>. Has
your marital status changed at all since then?

oF
wil_mstat=1|2|3|4

O, |5
O,

OSS
099

1113. Could you tell me what your marital status was last time we interviewed you?

mchange = 3
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____capi1=1___
1114. And has your marital status changed at all since then?

Yes O 1
mchange = 3
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99

1115.1. How did your marital status change? You became:

Hand showcard Q113, 115.

Married O 1
mchange =1
Registered same-sex partnership O 2 OR
mcorch =1

Divorced O 3

Widowed O 4

Single, never married O 5

[Don’t know, can’t say] O 88

[Refused] O 99

1116.1. Could you tell me when this change occurred?

January 01 2015 02015

February O 2 2016 O 2016

March O 3 [Don’t know, can't say] O 888 888

April O, [Refused] O 999 999

May O 5

June O 6 mChégnge .
mcorch =1

July O 7

August O 8

September O 9

October O 10

November O 11

December O 12

[Don’t know, can’t O 88

say]

[Refused] O 99
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|____capit=1___
1117.1. And has your marital status changed again since then?

Yes O 1

No O , mchaglge =1
mcorch =1

[Don’t know, can't say] O 88

[Refused] O 99

1115.2. How did your marital status change? You became:

Hand showcard Q113, 115.

Married O 1
mstay1 =1
Registered same-sex partnership O 2
Divorced O 3
Widowed O,
Single, never married O 5
[Don’t know, can'’t say] O 88
[Refused] O 99
| capi1=1__|

1116.2. Could you tell me when this change occurred?

January O1 2015 02015

February O 9 2016 O 2016
March O 3 [Don’t know, can't say] O 888 888
April O 4 [Refused] O 999 999
May O 5

une O . mstay1 =1
July O 7

August O 8

September O 9

October O 10

November O 11

December O 12

[Don’t know, can'’t O 88

say]

[Refused] O 99
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| capi1=1__
1117.2. And has your marital status changed again since then?

Yes O 1
mstay1 =1
No O 2
[Don’t know, can't say] O 88
[Refused] O 99

1118. In what month and year did you marry your current spouse?

January O 1 mary Record year in the format YYYY.

February O 2 s

March O 3 [Don’t know, can’t say] O 888 888
April O, [Refused] O 999 999
May O 5 .

June O . livesp =1
July O 7

August O 8

September O 9

October O 10

November O 1

December O 12

[Don’t know, can’t O 88

say]

[Refused] O 99

1119. How much time, on average, do you spend with your spouse or partner on a
working day? Exclude sleep time.

Indicate number of hours. If the respondent replies “24 hours”, remind them that sleep time is to be

excluded.
.......................................................................... oart = 1
[Don’t know, can’t say] O 888 888
[Refused] O 999 999
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dcmoney

dcbuy

dcsave

1120. And how often do you discuss politics and the current affairs in our country with

your spouse or partner?
Often
Sometimes
Rarely

Never

[Don’t know, can’t say]

[Refused]

1121. In your household who makes decisions about the following things?

Hand showcard Q121-122.

About
equal or
Always Usually both to-
me me gether

Routine money
management.

O, 0O, O,

Expensive
purchases
(e.g. car, larger
appliances).

O, 0O, O,

The number of
hours you
spend on paid
work.

O, 0O, O,

The number of
hours your
spouse/partne
r spends on
paid work.

The way
children are
raised.

O, 0O, O,

Social and
leisure
activities.

O, 0O, O,

Saving,
investments,
loans.

O, 0O, O,

Some-
Usually Always one
my my else (a
spouse/ spouse/ third
partner partner person)

O, 0Os O

O, 0Os O

O, 0Os O
O, 0Os O
O, 0Os O
O, 0Os O

O, O
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Not

appli-
cable

part =1

hhsize > 1

[Don’ t know,
can’ tsay]

9

OB8

088

088

088

088

[Refused]

9

099

099

099

099

099
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Y

chlaund

chrep

chshop

chclean

~——

chmeal

1122. In your household who does the following things?

Response options 1-5 solely relate to the respondent and his/her spouse/partner. Anybody else
doing housework in the household (e.g., a grown-up child) falls under the option “Someone else (a

third person)”.

Hand showcard Q121-122.

Always
me

Does the
laundry. O 1
Makes small
repairs
around the O 1
house.
Shops for
groceries. O 1
Does the
household O,
cleaning.

Prepares the
meals.

Usually

me

O,

About
equal or
both
together

O,

Someone
Usually my Always my else (a
spouse/ spouse/ third
partner partner person)

O, Os O

livesp=1

OR

livewith =1

[Don’t

know,
can’t
say]

O88

[Refused]

O99

1123. How do you and your spouse/partner organize the income that one or both of you
receive? Please choose the option from the card that comes closest.

Hand showcard Q123.

I manage all the money and give my spouse/partner his/her

share

My spouse/partner manages all the money and gives me my

share

We pool all the money and each take out what we need
We pool some of the money and keep the rest separate

We each keep our own money separate

[Don’t know, can’t say]

[Refused]

0.

O,
Oy
O,
Os

OBS
099
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1124. Clearly it depends on the circumstances of each case, but let us try to talk about
your views of marriage and divorce in general. To what extent do you agree with the
following statements?

Hand showcard Q124.

Strongly Strongly [Don’t know,
agree Agree Disagree disagree can’t say] [Refused]

Generally speaking, it

is a good thing that O1 02 O3 O4 Oss 099

people can divorce
nowadays.

dvgood

: Divorce is always a
dvfail failure. O, O, Os O, Osa O99

Divorce leads to a
dvlife more fulfilling life. O, O, O, O, Ogg O

One should stay in a

dvstay marriage even without O ] O ) O 3 O A O 83 O 9

love.

Children should be
placed in joint

dvcare custody following O 1 O 2 O 3 O 4 O 88 O 99

divorce, rather than in
sole custody.

Divorce typically

A causes irreparable O ] O ) O 3 O A O 83 O 9

damage to children.
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1125. What is your partner’s economic status, main source of income?

Hand showcard Q125.
Employee, full-time O 1
date =1
Employee, part-time (1/2 FTE or more) O 2
Employee, small part-time (less than 1/2 FTE) O 3
Self-employed O 4
Liberal profession O 5
Co-working family member O 6
Unemployed O 7
Student, apprentice, pupil O 8
Working pensioner O 9
Permanently sick or disabled O 10
Retired O 11
Homemaker O 12
On maternity/parental leave O 13
Other O 14
[Don’t know, can’t say] O 88
[Refused] O 99
1126. Has he/she ever had a paid job?
Yes O 1
pestat=7|8|10]| 11
No Oz [12]13]14| 8899
[Don’t know, can'’t say] O 88
[Refused] O 99
1127. And in her/his job, was he/she...
tAn employee (work base_d on an employment contract, a O ] _ _
emporary contract, or without a contract) pjobbf =1
Self-employed O 2
[Don’t know, can'’t say] O 88
[Refused] O 99
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1128. What is your partner’s job? (What was his/her last job?)

If the respondent’s partner is currently in paid work, ask about their current job. If not in paid work
but had a paid job in the past, ask about their last job.

Describe in words the main job. Record as much detail as possible, for example, “motor plant
assembly line operator”. For self-employed persons, specify industry/subject of activity.

If the respondent’s partner has more than one job, ask about the one, which occupies them for the
most hours per week. If they have two jobs that occupy them for the same number of hours, ask
about the more highly paid job.

Write in answer in words.

................................................................. pestat=1[2]3]4]5

[6]9
[Don’t know, can’t say] O 88 OR
pjobbf =1
[Refused] O 99
CZ-ISCO coding of fwrkps
[Don’t know, can’t say] O 888 888 pestat=1]|2|3|4]|5
1619
[Refused] O 999 999 OR
pjobbf =1
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Now | am going to ask you a couple of questions about politics and the

government.
1129. How interested would you say you are in politics?

Very interested @) 1
Fairly interested O 2
Not very interested @) 3
Not at all interested O 4
[Don’t know, can’t say] O 88
[Refused] O 99

IF polint =4

Even though you are not interested in politics, we are now going to ask you a few questions
regarding politics.

1130. Do you usually think of yourself as close to any particular party?

Yes O 1
No O 2
[Don’t know, can'’t say] O 88
[Refused] O 99

1131. Do you feel yourself a little closer to one of the political parties than the others?

Yes O 1
close =2 |88 |99
No O 2
[Don’t know, can'’t say] O 88
[Refused] O 99

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016 59/130



1132. Which party do you feel closest to?

Do NOT prompt.

Use the code “Other statements” for answers not referring directly to a political party (for example,
the respondent says that they prefer “Mr. Babis” or “the Nazis”).

Czech Social Democratic Party (CSSD) O 1
close =1
Civic Democratic Party (ODS) O 2 OR
; closer =1
Communist Party of Bohemia and Moravia (KSCM) O 3
Christian and Democratic Union — Czechoslovak People’s O
Party (KDU-CSL) 4
ANO Os
TOP 09 O
Freedom and Direct Democracy (Svoboda a pfima O
demokracie) 14
Green Party (Strana zelenych) O 8
Pirate Party (Piratska strana) O 9
Dawn — National Coalition (Usvit — Narodni koalice) O,
partyclo Other party. SPECIfY: .....uvvrrerrrrrerreeeeeeeeeeeeeeaans O 4
Other statements O 12
None O 13
[Don’t know, can’t say] O 88
[Refused] O 99

1133. Do you feel very close to this party, somewhat close, or not very close?

Very close O 1

partycl=1]|2|3|4]|5
Somewhat close Oz |16]7]18]9|10]11 |12
Not very close O 3
[Don’t know, can’t say] O 88
[Refused] O 99
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1134. If there were to be a lower chamber election next week, would you vote?

Definitely yes O 1
Probably yes O 2
Probably not O 3
Definitely not O 4
Does not have the right to vote O 5
[Don’t know, can'’t say] O 88
[Refused] Oy

1135. If you did vote, which political party would you vote for?

Use the code “Other statements” for answers not referring directly to a political party (for example,
the respondent says they would vote for “Mr. Babis” or “the Nazis”)

Do NOT prompt.
Czech Social Democratic Party (CSSD) O 1
wvote=1]2|3
Civic Democratic Party (ODS) O 2
Communist Party of Bohemia and Moravia (KSCM) O 3
ghristian and Democratic Union — Czechoslovak People’s O A
arty (KDU-CSL)
ANO Os
TOP 09 O
Zreedom _and Direct Democracy (Svoboda a pfima O ”
emokracie)
Green Party (Strana zelenych) O 8
Pirate Party (Piratska strana) O 9
Dawn — National Coalition (Usvit — Narodni koalice) O,
Other party. SpecCify:......cccvcviiiiiiiiiiiiiieee, O 1
Other statements O 12
None O 13
[Don’t know, can'’t say] O 88
[Refused] O 99
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efigood

efisay
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1136. In politics, people sometimes talk of left and right. Using this card, where would
you put yourself on this scale where 0 means the left and 10 the right?

Code “Don’t know, can’t say” if the respondent hesitates or gives an answer such as “whatever, tick
the middle”, “I don’t know, tick something like five”.

Hand showcard Q136.

the left the right

[Don’ t know,
can’ tsay]
[Refused]

0 1 2 3 4 5 6 7 8 9 10

O, O, O, O3 O, Os Os O; Oy Oy Oy O

O

1137. Use this card. Please tell me to what extent you agree or disagree with each of the
following statements.

Hand showcard Q137.

Neither [Don’t
Strongly agree nor Strongly know,
agree Agree disagree Disagree disagree can't say] [Refused]

| consider myself to be

sufficiently qualified to O O O O O
1 2 3 4 5

participate in politics.

O88 099

| feel that | have a pretty

good understanding of

the important political

issues facing our O 1 O 2 O 3 O 4 O 5
country.

<>88 099

The government doesn’t

care about what people O O O O O
1 2 3 4 5

like me think.

Politicians are interested
only in getting people’s

votes, not in their O 1 O 2 O 3 O 4 O 5

opinions.
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1138. Different people feel differently about voting. For some, voting is a DUTY. They
feel that they should vote in every election regardless of how they feel about the
candidates and parties. For some, voting is a CHOICE. They feel free to vote or not
to vote in an election depending on how they feel about the candidates and parties.
For you personally, is voting in an election first and foremost a duty or a choice?

duty

Duty O 1
Choice O 2
Neither O 3
[Don’t know, can’t say] O 88
[Refused] O 99

1139. How strongly do you feel that voting in an election is a duty?

Very strongly O 1
duty =1
Somewhat strongly O 2
Not very strongly O 3
[Don’t know, can’t say] O 88
[Refused] O 99

1140. Which one of the following statements on the card do you most agree with?

Hand showcard Q140.
Democracy is better than any other form of government. O 1
g_here are.cirf:umstances when an authoritarian regime, O )
ictatorship, is better than a democracy.
To people like me, all regimes are comparable. O 3
[Don’t know, can’t say] O 88
[Refused] O 99
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1141. Now we would like to know your opinion on various issues. Where would you put
your opinion on the scale?

Hand showcard Q141.
People with higher All people should pay the same ;
incomes should pay a tax rate irrespective of their § = _
higher tax rate. income. =3 g
0 1 2 3 4 5 6 7 8 9 10 8§ &
C)0 O1 OZ O3 O4 OS OG O7 OB OQ O10 Oss 099

1142. Where would you put your opinion on the scale?

Hand showcard Q142.
Even people who were high up in the
People who were high up in the communist regime should have the .
communist regime should not same access to serving in public § =
hold public offices. offices as others. =3 g
o 1 2 3 4 5 6 7 8 9 10 &% &
O, Oy O, O3 Oy Os O O; O Oy O, O, O,

1143. Where would you put your opinion on the scale?

Hand showcard Q143.

European integration European integration has gone §;

should be deepened. too far. o _% g
0 1 2 3 4 5 6 7 8 9 10 8§ &
O, Oy O, O3 O Os O O; Oy Oy O, O, O,

9

1144. Where would you put your opinion on the scale?

Hand showcard Q144.
The state should grant a .
The government should pregnant woman the right to § =
outlaw abortion. choose abortion. 28 g
0 1 2 3 4 5 6 7 8 9 10 8§ ¢&
O, Oy O, O3 O, Os O O; Op Oy Oy O, O
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1145. Where would you put your opinion on the scale?

Hand showcard Q145.
People coming to live here People coming to live here
from other countries from other countries generally
generally undermine Czech enrich Czech Republic’s § = _
Republic’s cultural life. cultural life. Z3 g
0 1 2 3 4 5 6 7 8 o 10 &% ¢
O, Oy O, O3 O Os O O; Op Oy Oy On O,

1146. Now please tell me how often you discuss politics and the current affairs in our
country with your friends.

Often O 1
Sometimes O 2
Rarely O 3
Never O 4
[Don’t know, can'’t say] O 88
[Refused] O 99

1147. And how often do you discuss politics and the current affairs in our country with
people at work?

Often O 1
Sometimes Oz estat=1[2]3]4]5
Rarely O 3 | g:s

job =1
Never O 4 =
[Don’t know, can’t say] O 88
[Refused] O 99
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Excellent
Very good
Good

Fair

Poor

[Don’t know, can'’t say]

[Refused]

Now please tell me the words you could remember.

Mark all the words the respondent recalls.

HOTEL
RIVER
TREE
SKIN
GOLD
MARKET
PAPER
CHILD
KING
BOOK

Respondent could not remember any word

In the next section of the questionnaire, | am going to give you some
tasks to test memory and concentration. You may find some of them
more difficult than the others. Please try to do the best you can on all of

1148. How would you rate your memory at the present time? Would you say it is...

1149. Now | am going to play a recording with a set of 10 words and | would like you to
remember as many as you can. We have purposely made the list long so it will be
difficult to remember all the words. Most people remember just a few. When the
recording has finished, | will ask you to recall aloud as many of the words as you
can, in any order.

If the recording does not work or the respondent cannot hear it, read out the list of words at a
steady rate, approximately one word every two seconds.

qmode =1
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WATER O

CHURCH 4 amede =1
DOCTOR p

PALACE 4

FIRE 4

GARDEN p

SEA 4

VILLAGE p

BABY 4

TABLE O+

Respondent could not remember any word mp

DERIVED VARIABLE
word recall test version
A O,
5 O , qmode =1

1150. Please name as many animals as you can. You have one minute to do so, so
name them as quickly as possible.
If you have any questions about this task, please ask me now before | start
counting down the time.

Start the timer.

Write down all animals the respondent names in 60 seconds.

qmode =1
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1151. If the chance of getting a disease is 10 percent, how many people out of 1,000
(one thousand) would be expected to get the disease?

Correct answer = 100
Correct answer O 1

gqmode = 1
Wrong answer O 2

1152. A dealer is selling a second-hand car for 600,000 CZK. This is two thirds of what it
cost new. How much did the car cost new?

Correct answer = 900,000 CZK
Correct answer O 1

gqmode =1
Wrong answer O 2

1153. If 5 people all have the winning numbers in the lottery and the prize is 2 million
CZK, how much will each of them get?

Correct answer = 400,000 CZK
Correct answer O 1

qmode =1
Wrong answer O 2

1154. Let’s say you have 200 CZK in a savings account. The account earns ten percent
interest each year. How much would you have in the account at the end of two
years if the interest was credited every year?

Correct answer = 242 CZK
Correct answer O 1

gqmode =1
Wrong answer O 2
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And now a few questions about your childhood, adolescence and your
parents.

1155. Did you live most of your childhood up to the age of 16 with both of your biological
parents?

If the family arrangements changed before the respondent reached 16, they should refer to that
lasting most of the time, the longest.

Yes O 1
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99

____capit=2
1156. With whom did you live for most of your childhood, that is, until you were 16?
Please choose your answer from the following card.
If the family arrangements changed before the respondent reached 16, they should refer to that
lasting most of the time, the longest.

Hand showcard Q156.
With my biological mother only O 1
lipar = 2
With my biological father only O 2
With biological mother and a stepfather O 3
With biological father and a stepmother O 4
With grandparents O 5
With (an)other relative(s) O 6
With (an) adoptive parent(s) O 7
In a foster family O 8
In a boarding school/dormitory O 9
In a children’s home O 10
In a special youth home O 11
Elsewhere O 12
[Don’t know, can'’t say] O 88
[Refused] O 99
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| capi1=2
1157. Can | just check, if you don’t mind — before the age of 16, did you grow up with
your mother, your father or both?

That is with the mother and father in an adoptive or foster family.

With my mother O1
liwho=7|8
With my father O 2
With both O,
[Don’t know, can’t say] O 88
[Refused] O 99

| capi1=2
1158. What was the reason for this (family) arrangement?

That is why the respondent did not live with both biological parents.

Hand showcard Q158.
One or both parents died O 1
lipar = 2
Parents separated O 2
Parents divorced O 3
Parents never lived together O 4
Father absent (in armed forces etc.) O 5
One or b_oth_ parentg lived in an institution (e.g., a health O
care institution, a prison etc.) 6
Dysfunctional family O 7
Other. Specify: ....ccoiiiiiii O 8
[Don’t know, can’t say] O 88
[Refused] O 99

|___capit=2
1159. In what year did they break up/divorce (for the first time)?

Record year in the format YYYY.

............................................................... liwhy = 2| 3
[Don’t know, can’t say] O 888 888

[Refused] O 999 999
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___capil=2
1160. How was the relationship between your parents up to the time you were 16 years of
- age? Taking all things together, on a scale from 0 to 10 where 0 is really bad and 10
is absolutely perfect, how would you describe the relationship between your parents
at that time?

Hand showcard Q160.

lipar =1 OR liwho =3 | 4 OR (liwho =7 | 8 AND liwhop = 3)

really bad absolutely perfect
0 1 2 3 4 5 6 7 8 9 10

O, Oy O, O Oy Os Oy O; Oy Oy Oy O, O,

[Don’ t know,
can’ tsay]
[Refused]

____capit=2
1161. You said you did not live with both of your parents most of your childhood, but let
me just check. Thinking of the time you and both of your parents were together, how
would you describe the relationship between them? Choose a value on a scale from
0 to 10 where 0 is really bad and 10 is absolutely perfect.
Hand showcard Q161.
liwho=1]2]5]|6]9]10|11|12 OR liwhop=12
> —
£ ©
really bad absolutely perfect 2 g 5
52 -
0 1 2 3 4 5 6 7 8 9 10 2 % §§ jg

O, Oy O, O O Os Os O; O Oy Oy Ou Ou O

| capi1=2 |
1162. Can | just check — is <name> the mother you were mostly growing up with before
the age of 16?
Yes — it is the same person O 1
livemo =1
No — | grew up with a different mother @) 2 AND
(lipar =1
OR
[Don’t know, can’t say] O 88 liwho=1|3|4
OR
[Refused] O 99 (liwho =7 | 8 AND
liwhop =1 3))
71/130
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1163. Can | just check — is <name> the father you were mostly growing up with before
the age of 16?

Yes — it is the same person

No — | grew up with a different father

[Don’t know, can’t say]

[Refused]

O,
livefa =1
O, AND
(lipar=1
OR
Ogs liwho = 2| 3 | 4
OR
Oy (liwho =7 | 8 AND
liwhop =2 | 3))

In the following questions 164 to 187, the respondent should talk about the parents they mostly
grew up with during their childhood, no matter whether biological, adoptive, step or foster parents.

If there was no father/mother in the family they grew up in, the respondent should refer to their

biological father/mother.

1164. In what year was your father born?

Record year in the format YYYY.

[Don’t know, can’t say]

[Refused]

1165. Is your father still alive?

Yes

No

[Don’t know, can’t say]

[Refused]
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fsame =2 | 88|97 | 99

capii=2 |
o,
O,

O88
C)99

fsame =2 | 88|97 | 99
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1166. In what year did he die?

Record year in the format YYYY.

[Don’t know, can'’t say]

[Refused]

1167. In what year was your mother born?

Record year in the format YYYY.

[Don’t know, can’t say]

[Refused]

1168. Is your mother still alive?

Yes

No

[Don’t know, can'’t say]

[Refused]

1169. In what year did she die?

Record year in the format YYYY.

[Don’t know, can'’t say]

[Refused]
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faliv=2
O 888 888
O 999 999
msame =2 | 88 | 97 | 99
O 888 888
O 999 999
| capi1=2 |
O,
msame =2 | 88 | 97 | 99
O,
O 88
O 99
maliv = 2
O 888 888
O 999 999
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Hand showcard Q170-171.
Incomplete basic
Basic
Secondary vocational, no maturita exam
Lower secondary vocational, no maturita exam
Secondary vocational, maturita exam
Secondary technical, maturita exam
Secondary general, maturita exam
Tertiary (professional school)

Tertiary (university/college)

[Don’t know, can’t say]

[Refused]

Hand showcard Q170-171.
Incomplete basic
Basic
Secondary vocational, no maturita exam
Lower secondary vocational, no maturita exam
Secondary vocational, maturita exam
Secondary technical, maturita exam
Secondary general, maturita exam
Tertiary (professional school)

Tertiary (university/college)

[Don’t know, can’t say]

[Refused]

1170. What is the highest level of education that your father attained?

fsame = 2889799

1171. What is the highest level of education that your mother attained?

msame =2 | 88|97 | 99
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|___capi1=2 |
1172. How many siblings lived with you in your household when you were 16 years old?

Write in number. The respondent should give the number of other siblings; that is, not counting

himself/herself.
[Don’t know, can’t say] O 888 888
[Refused] O 999 999
| capi1=2 |
1173. At the time you were 16 years old, about how many books were there in your
home?
Hand showcard Q173.
None O 1
About 5 O,
About 10 O 3
About 20 O 4
About 50 O 5
About 100 O,
About 200 O,
About 500 Og
About 1000 O 9
About 1500 or more O 10
[Don’t know, can'’t say] O 88
[Refused] O 99
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1174. At the time you were 16 years old, did your household have financial problems?
Please use this card to carefully consider the financial circumstances that

prevailed in your household at that time.
Hand showcard Q174.

Most of/Almost all the time

Often

Sometimes

Rarely

Never

| lived in a collective household or institution

[Don’t know, can’t say]

[Refused]

1175. When you were about 16 years old, did your parents own the flat/house you lived
in, did they hold a share in a housing cooperative or were they renting a flat from

government/local authority/employer/a private landlord?

Hand showcard Q175.
They owned the flat/house
They were renting from government/local authority
They were renting from a private landlord
They were renting from their employer
They lived in a co-op flat

They lived in an institution, a medical or nursing facility
(retirement home, care home, nursing home, hospital, etc.)

[Don’t know, can’t say]

[Refused]
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Employee, full-time

Employee, part-time (1/2 FTE or more)

Employee, small part-time (less than 1/2 FTE)

Self-employed

Liberal profession
Co-working family member
Unemployed

Student, apprentice, pupil
Working pensioner
Permanently sick or disabled
Retired

Homemaker

On maternity/parental leave
Other

My father was no longer alive at that time

[Don’t know, can't say]

[Refused]

1176. When you were about 16 years old, what was your father’s economic status, main
source of income?

Irrespective of whether the respondent was still living with their father at the time they were about
16 years old.

Hand showcard Q176, 182.
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In the following questions 177 to 187: If the respondent’s parent had more than one job, ask about
the one, which occupied them for the most hours per week. If they had two jobs that occupied them
for the same number of hours, ask about the more highly paid job.

1177. What was your father’s job at the time you were about 16 years old?

Describe in words the main job. Record as much detail as possible, for example, “motor plant
assembly line operator”. For self-employed persons, specify industry/subject of activity.

festat=1[2|3]4|5|6
[Don’t know, can’t say] O 88 |9

[Refused] O 99

| capit=2 |
CZ-ISCO coding of fwrkps

[Don’t know, can't say] O 888 888 festat=1|2]|3]4|5]|6
9
[Refused] O 999 999
|____capit=2 |
1178. Did your father have any responsibility for supervising the work of other
employees in his main job when you were about 16 years old?
Yes O1
festat=1]|2|3|5]|6]9
No O 2
[Don’t know, can'’t say] O 88
[Refused] O 99

____capit=2 |
1179. How many employees did your father supervise at the time you were about 16
years old?

1-9 O1

fsvise =1
10 or more O 2
[Don’t know, can’t say] O 88
[Refused] O 99
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1180. Besides himself, did your father employ any other people when you were about 16
years old?

Yes

No

[Don’t know, can’t say]

[Refused]

1181. How many employees did your father have at the time you were about 16 years
old?

1-9

10 or more

[Don’t know, can'’t say]

[Refused]
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festat =4
O,
O 88
O 99
O,

fempl =1
O,
O 88
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Employee, full-time

Employee, part-time (1/2 FTE or more)

Employee, small part-time (less than 1/2 FTE)

Self-employed

Liberal profession
Co-working family member
Unemployed

Student, apprentice, pupil
Working pensioner
Permanently sick or disabled
Retired

Homemaker

On maternity/parental leave
Other

My mother was no longer alive at that time

[Don’t know, can't say]

[Refused]

1182. When you were about 16 years old, what was your mother’s economic status,
main source of income?

Irrespective of whether the respondent was still living with their mother at the time they were about
16 years old.

Hand showcard Q176, 182.
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| capi1=2
1183. What was your mother’s job at the time you were about 16 years old?

Describe in words the main job. Record as much detail as possible, for example, “motor plant
assembly line operator”. For self-employed persons, specify industry/subject of activity.

............................................................... mestat=1[2[3]4|5
[Don’t know, can’t say] O 88 1619

[Refused] O 99

CZ-ISCO coding of mwrkps

[Don’t know, can’t say] O 888888 mestat=1|2]3]4]|5
1619
[Refused] O 999 999
| capi1=2
1184. Did your mother have any responsibility for supervising the work of other
employees in her main job when you were about 16 years old?
Yes O 1
mestat=1|2|3|5|6
No O, E
[Don’t know, can'’t say] O 88
[Refused] O 99

1185. How many employees did your mother supervise at the time you were about 16
years old?

1-9 O1

msvise = 1
10 or more O 2
[Don’t know, can'’t say] O 88
[Refused] O 99
81/130

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016



1186. Besides herself, did your mother employ any other people when you were about
16 years old?

Yes

No

[Don’t know, can’t say]

[Refused]

mestat = 4

1187. How many employees did your mother have at the time you were about 16 years
old?

1-9

10 or more

[Don’t know, can'’t say]

[Refused]
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fcoopy
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The following questions focus on the home you currently live in as well
as any previous home.

1188. In what year did you first become:

Record year in the format YYYY.

I'have never  pon't know
been can't say] [Refused]

An owner/co-owner of a
flatthouse? = e O 999 996 O 888 888 O 999 999

A shareholder in a housing

cooperative with the right to
live in a coop flat (with your ~ --veveerennennane. O 999 996 O 888 888 O 999 999

name listed in the contract)?

1189. Have your parents ever given you financial support to buy a flat/house?

Yes, very significant one (more than 50% of the acquisition O
1

cost)

Yes, _si_g_nificant one (between 25% and 50% of the O
acquisition cost) 2
Yes, partial one (less than 25% of the acquisition cost) @) 3
No O 4
[Don’t know, can’t say] O 88
[Refused] O 99

1190. Did your parents give you financial support before or after you first became a flat
or house owner?

Before O, EETENEE

paidh=1]2]3
After O 2 AND
(w1_fowny < 888 888
[Don’t know, can’t say] O 88 OR
own =1)

paidh=1]|2]3
AND
(fowny < 888 888
OR
own =1)

[Refused] O 99
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1191. Have your grandparents ever given you financial support to buy a flat/house?

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

Yes, very significant one (more than 50% of the acquisition

cost)

Yes, significant one (between 25% and 50% of the

acquisition cost)

Yes, partial one (less than 25% of the acquisition cost)

No

[Don’t know, can’t say]

[Refused]

O,

1192. Did your grandparents give you financial support before or after you first became

a flat or house owner?
Before
After

[Don’t know, can’t say]

[Refused]

O, HIETTEINEE

O gaidh=1|2]3
2 AND
(w1_fowny < 888 888

O 88 OR

own =1)
| capit=2 |

gaidh=1]2|3
AND
(fowny < 888 888
OR
own = 1)

1193. Have your parents ever given you financial support of at least 100,000 CZK on a

single occasion?

Yes

No

[Don’t know, can’t say]

[Refused]
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1194. Did your parents give you financial support of at least 100,000 CZK on a single
occasion before or after you first became a flat or house owner?

Before

After

[Don’t know, can’t say]

[Refused]

O, HEETTEINE

O paid =1
2 AND
(w1_fowny < 888 888

Ogs OR

own = 1)
099
| capi1=2

paid =1
AND
(fowny < 888 888
OR
own = 1)

1195. Do you think your parents will give you financial support when you are about to

buy a flat or house?
Yes

No

[Don’t know, can’t say]

[Refused]

paidh = 4| 88 | 99
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1196. Have you ever received the following types of material support from your parents,
grandparents or other relatives?

MULTIPLE CHOICE.

Hand showcard Q196.
suflat Flat/house (including a rent controlled rental flat) O
suequi House/flat furnishings, furniture (P
suplot Building plot 4
suprop Other property (e.g. cabin) O
suelse Other type of material support (P
suno Not received 4
sudk [Don’t know, can'’t say] |:|1
7 [Refused] 4

1197. Have you ever inherited any property?
MULTIPLE CHOICE.

Hand showcard Q197.
inflar Rent controlled rental flat 4
inflat A flat owned privately or by a housing cooperative O
inflats Share in a flat owned privately or by a housing cooperative [+
inhous Privately owned detached or semi-detached house (P
inhouss ﬁhare in a privately owned detached or semi-detached 1

ouse

inplot Building plot (P
inplots Share in a building plot 4
inot Other property (e.g. garage) P
1 Not inherited mp
indk [Don’t know, can'’t say] |:|1
inref [Refused] O

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016
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inval

Write in AMOUNT IN CZK.
[Don’t know, can’t say] O 888 888
Refused
[ ] O 999 999

1199. Which of the statements comes closest to your belief?

Parents should always help their children to get their own O
flat/house. 1

Parents should help their children to get their own flat/house O
only if the children couldn’t get it on their own. 2

Parents should teach their children responsibility and

independence. They should not help them get their own O

3
flat/house.
[Don’t know, can’t say] O 88
[Refused] O 99

Record in minutes.

[Don’t know, can’t say] O 888 888

[Refused] O 999 999

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

1198. Could you please estimate the current market value of the property/properties you
have inherited?

inflar =1 OR inflat = 1
OR inflats =1 OR
inhous =1 OR inhouss
=1 OR inplot=1 OR
inplots =1 OR inot =1

1200. How long does it usually take you to get from home to work, door to door?
Include only the one-way trip, and if the duration varies between days, count the
average.

If the respondent works from home, record 0. If the respondent uses different means of transport
on different days, they should indicate trip duration on a typical day.

estat=1|2|3]|4|5|6
|9

OR
job=1
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1201. What was your previous residential address?

Street: oo e livad = 2

[Don’t know, can’t say] O 88
[Refused] O 99
capi1 =2
county (selection from code list in the data) livad = 2
[Don’t know, can’t say] O 888 888
[Refused] O 999 999
capi1 =2
MUNICIPALILY: «.oeeeeeieeeee e e e e e e e e e =2
[Don’t know, can’t say] O 888 888
[Refused] O 999 999
PSC: cvueereueeseesesesessesenesesseseeesese e e esese e snesans ez =2
[Don’t know, can'’t say] O 888 888
[Refused] O 999 999
88/130
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1202. In what year did you last move?

Record year.
.................................................................. Iivad = 2
[Don’t know, can’t say] O 888 888
[Refused] O 999 999

| capi1=2
1203. How many people lived in your previous household before you moved?

Write in number. The respondent should give only the number of OTHER persons in the previous
household, i.e. NOT COUNTING HIM/HERSELF.

.................................................................. Iivad = 2
[Don’t know, can’t say] O 888 888

[Refused] O 999 999

| capi1=2 |
1204. What kind of flat/house did you live in?

Hand showcard Q204.
Detached house O1
livad = 2

Semi-detached house or terraced house O 2
Flat in a multi-family house O 3
Flat in a building with fewer than 10 flats O,
Flat in a building with 10 or more flats O 5
Boarding house, workers’ quarters, asylum house O 6
Institutional accommodation (halfway house, retirement O

home, etc.) 7

Non-residential building (factory, administrative building, O o

school)

Elsewhere O 9
[Don’t know, can’t say] O 88
[Refused] O 99
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1205. How many rooms were there in your previous house/flat including bedrooms but
excluding kitchen, bathroom and any room you may have let?

Write in number.

livad = 2
[Don’t know, can’t say] O 888 888

[Refused] O 999 999

IF mroom = 0 | (mroom => 9 & mroom < 888 888) | (mroom > 888 888 & mroom < 999 997) |
(mroom > 999 997 & mroom < 999 999) | mroom > 999 999:

Check whether the value is correct. If needed, check with the respondent. Correct any incorrect
values.

1206. What was the total floor area of your house/flat including all rooms (kitchen,
bathroom, toilet, pantry, walk-in closet), cellar, garage (if inside the house or
residential building in which the household lived) and balcony/terrace?

Write in number. If the respondent does not know the exact figure or can’t remember, probe: Could
you try to give me an approximate area plus/minus 5 m??

livad = 2
[Don’t know, can’t say] O 888 888

[Refused] O 999 999

IF ((mvhtype = 1 | mvhtype = 2) & (mvarea =< 39 | (mvarea => 301 & mvarea < 888 888) |
(mvarea > 888 888 & mvarea < 999 997) | (mvarea > 999 997 & mvarea < 999 999) | mvarea >
999 999)) | ((mvhtype = 3 | mvhtype = 4 | mvhtype = 5 | mvhtype = 6 | mvhtype = 7 | mvhtype =
8 | mvhtype = 9) & (mvarea =< 19 | (mvarea => 101 & mvarea < 888 888) | (mvarea > 888 888
& mvarea < 999 997) | (mvarea > 999 997 & mvarea < 999 999) | mvarea > 999 999)):

Check whether the value is correct. If needed, check with the respondent. Correct any incorrect
values.

1207. Was your previous accommodation with your parents or grandparents?
Yes O 1
livad = 2
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99
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|____capit=2 |
1208. What kind of place did you live in?

Centre of a municipality (city/town/village) O 1
livad = 2
Broader centre of a municipality O 2
Suburbs, outskirts O 3
Secluded home O 4
Other O 5
[Don’'t know, can’t say] O 88
[Refused] O 99

| capi1=2
1209. At that time, what was your form of housing tenure for the flat/house you lived in?

Hand showcard Q209.
Owner/co-owner of the flat/house O 1
livad = 2
Member of the flat/house owner or co-owner’s household O 2
Shareholder in a housing cooperative O 3
Member of the housing cooperative shareholder’s O
household 4
Tenant renting from government/local authority (party to a O
contract with the government/local authority) 5
Member of the government/local authority tenant’s O
household 6
Tenant renting from a private landlord O 7
Member of the private landlord tenant’s household O 8
Subtenant O 9
Rent-free accommodation (provided by relatives etc.) O 10
Accommodation in a boarding school, asylum house, O
workers’ quarters, student dormitory 11
Individual with a form of housing tenure other than the O
above-mentioned 12
[Don’t know, can’t say] O 88
[Refused] O 99
91/130
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mwork

mfam

mhous

melse

mdk

mref

1210. Why did you move from where you lived on <date>? You can choose several

options.

1210. Why did you move from where you lived before? You can choose several options.

MULTIPLE CHOICE.
Hand showcard Q210.

Employment/business/education-related reasons
Personal/family life-related reasons
Housing-related reasons

Other (different) reasons

[Don’t know, can’t say]

[Refused]

O+
O+
O+
O+

O+
O+

asame =2

livad = 2

1211. You said you moved for reasons related to employment/finance. Could you

describe them in more detail?

Hand showcard Q211.
My employer moved my job to another workplace

| got a new job with the same employer and another
workplace

| got a new job with a new employer

To be nearer my workplace, which remained unchanged
To start my own business

To relocate my business

My salary increased so | could afford to move

To look for work

To live closer to my school

Other. SPeCIfy: ...

[Don’t know, can’t say]

[Refused]
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1212. You said you moved for reasons related to personal/family life. Could you
describe them in more detail?

Hand showcard Q212.

To establish a new household, become independent, get
married, move in with my partner

| needed a bigger house/flat

Due to becoming a widow/widower, divorce, break-up
| needed a smaller house/flat

To move in with my family (parents, children, etc.)

To move closer to my family

Health-related reasons, disease (own or a household
member’s)

Left my previous accommodation to offspring

Disagreements in my previous household

Other. SpecCify: ...cccciiiiirierrrr

[Don’t know, can'’t say]

[Refused]

mfam =1

1213. You said you moved for housing-related reasons. Could you describe them in
more detail?

Hand showcard Q213.
| wanted a higher-quality accommodation
To change my form of housing tenure (from owner/co-op
shareholder to tenant or vice versa), buy or build my own
flat/house

| wanted an accommodation with cheaper rent or lower
maintenance costs

To make use of inheritance/qift

Other. SPeCify: ..ot

[Don’t know, can'’t say]

[Refused]
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1214. You said you moved for other reasons. Could you describe them in more detail?

reelseo

Hand showcard Q214.

| was evicted

| moved with my parents

Maijor accident, natural disaster (fire, flood...)
Demolition

To move to a different kind of place (from a city to a village,
to the nature, to my hometown, etc.)

Poor relations in the neighbourhood, unsuitable community

Lease expiration, termination by the landlord, problems with
the landlord, moving out

Financial reasons

Other. SPeCify: ...

[Don’t know, can’t say]

[Refused]

DERIVED VARIABLE

number of reasons to relocate (mwork, mfam, mhous, melse)

1215. And what were the main reasons?

Employment/business/education-related reasons
Personal/family life-related reasons
Housing-related reasons

Other reasons

[Don’t know, can’t say]

[Refused]
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melse =1

mrenum=2|3 |4

94/130



|___capit=2
1216. How did you acquire the house/flat you previously lived in?

Hand showcard Q216.

The house/flat was inherited

The house/flat or its major part was given, i.e. | or someone
from my household did financially contribute to acquiring it
but received a major part as a gift

The house/flat was acquired in property restitution
proceedings

The flat was acquired through privatization of housing
owned by local authorities, employers or government

The house/flat was bought (by me and/or someone else) at
a market price

The house/flat was built (by me and/or someone else)

| or someone else acquired the co-op flat as a shareholder
in a housing cooperative before 1990

| or someone else acquired the formerly co-op flat as a
shareholder in a housing cooperative before 1990, and it
later became private property

In another way. Specify:

[Don’t know, can'’t say]

[Refused]

Yes, very significant one (more than 50% of the acquisition
cost)

Yes, significant one (between 25% and 50% of the
acquisition cost)

Yes, partial one (less than 25% of the acquisition cost)

No

[Don’t know, can'’t say]

[Refused]
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mhtnr=1|2|3| 4

1217. Did your parents/grandparents or your partner’s parents/grandparents provide
financial support to acquire your previous home?

O1 mdwelob =5 | 6
O,

Os
O,

OS8
099
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Now we are going to briefly look at your entire labour market history
while considering both periods of job activity and periods when you did
not work.

1218. First, please tell me how you would generally describe your career path to date.

Hand showcard Q218.

One or a few long-term jobs O 1
estat=1]2[3]|4|5|6
Multiple shorter spells of work (including seasonal jobs) @) 2 [7]19]10]11[12]13
| 14
Doing long-term as well as short-term jobs O 3
Other type of career path O 4
[Don’t know, can’t say] O 88
[Refused] O 99

1219. About how many jobs have you had from the beginning of your career to
present? Please only count jobs lasting about a year or more.
Write in number. If the respondent has never had a job, write 0.

If the respondent does not know or can’t remember, ask them for at least an estimate.

estat=1|2|3|4|5]|6
, , ® [7]19]10[11]12]13
[Don’t know, can’t say] 888 888 |14
[Refused] O 999 999
|____capil=1__|
1220. How many times in your life have you taken maternity/parental leave? l.e. how
many times have you spent some time at home after having a baby?

Write in number. If the respondent has never taken maternity/parental leave, write 0.
If the respondent does not know or can’t remember, ask them for at least an estimate.

If more periods of maternity/parental leave followed immediately one after another, count them as
a single spell.

Maternity leave refers to the period immediately preceding and following the birth of a child
(lasting approximately 20—28 or 37 weeks). For women, parental leave refers to a follow-up period
lasting till the child’s third or fourth birthday at the latest. For men, it refers to the period
immediately following the birth of a child and again lasting till the child’s third or fourth birthday at

the latest.
[Don’t know, can’t say] O 888 888
[Refused] O 999 999
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1221. How many times in your life have you been unemployed?

Write in number. If the respondent has never been unemployed, write 0.

If the respondent does not know or can’t remember, ask them for at least an estimate.

[Don’t know, can’t say] O 888 888

[Refused] O 999 999

1222. How many times in your life have you been unemployed for more than 6 months?
Write in number.

unemplin
, , O (>0 &<888 888) |
[Don t know, can’t Say] 88 (>888 888 & <999 999) |
>999 999
[Refused] O 99 ( )
| capi1=1___
1223. Have you been drafted into the army?
Draft refers to compulsory military service.
Yes O 1
sex =1
No O, AND
birthy < 1989
[Don’t know, can’t say] O 88
[Refused] O 99
| capi1=1___|
1224. In what year did you start your compulsory military service?
Record year in the format YYYY.
.......................................................................... ery e 1
[Don’t know, can’t say] O 888 888
[Refused] O 999 999
| capi1=1__
1225. In what year did you end your compulsory military service?
Record year in the format YYYY.
.......................................................................... isery = 1
[Don’t know, can’t say] O 888 888
[Refused] O 999 999
| capi1=1___|
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hstarty(x)

1227. In what year did you quit the job?

1228. What was your economic status in the job?

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

Record year in the format YYYY.

[Don’t know, can’t say]

[Refused]

Indicate year in the format YYYY.

Still working here

[Don’t know, can’t say]

[Refused]

You said you have had <jobn> job(s) lasting more than a year. | am now
going to ask you briefly about each of them. Please start with the job you
had first and continue with the job that followed.

1226. In what year did you start your <first>/<second>/<third>... job?

LOOP = jobn (max. 10)

O gss 888 jobn (>0 & <888 888) |

O (>888 888 & <999 997) |

999999  (>999 997 & <999 999) |
>999 999

LOOP = jobn (max. 10)

jobn (>0 & <888 888) |
O gep 00 (>888 888 & <999 997) |
(>999 997 & <999 999) |

>999 999

If the FTE varied during one job, the respondent should refer to that which prevailed.

Hand showcard Q228.

Employee, full-time

Employee, part-time (1/2 FTE or more)

Employee, small part-time (less than 1/2 FTE)

Self-employed
Liberal profession
Co-working family member

Working pensioner

[Don’t know, can’t say]

[Refused]

LOOP = jobn (max. 10)

jobn (>0 & <888 888) |
O,  (>888888 & <999 997) |
(>999 997 & <999 999) |

O . >999 999

AND
O 5 hendy(x) < 999 996
Os
O,
O 88
O 99
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1229. What was your job?

Describe in words the main job. Record as much detail as possible, for example, “motor plant
assembly line operator”. For self-employed persons, specify industry/subject of activity.

If the respondent had more than one job, ask about the one, which occupied them for the most
hours per week. If they had two jobs that occupied them for the same number of hours, ask about

the more highly paid job.

Write in answer in words.
[Don’'t know, can’t say]

[Refused]

CZ-ISCO coding of wrkps

[Don’t know, can'’t say]

[Refused]
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LOOP = jobn (max. 10)

jobn (>0 & <888 888) |
(>888 888 & <999 997) |
(>999 997 & <999 999) |
>999 999
AND
hendy(x) < 999 996

LOOP = jobn (max. 10)

jobn (>0 & <888 888) |
(>888 888 & <999 997) |
(>999 997 & <999 999) |
>999 999
AND
hendy(x) < 999 996
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1230. What was the reason you quit the job?

hendreo(x)

Hand showcard Q230.

Was made redundant (business reorganization, going out
of business, etc.)

Was dismissed for other reasons (qualification,
performance, workplace conflicts, etc.)

For family reasons (family events, moving, change in health
condition)

For financial reasons
A good opportunity came up
Pursued better working conditions

Opportunity to make better use of qualifications, get a more
interesting job

Tried to run own business
Retired
Other reasons, specify: .....c.cccoveviiiiiiiiiiiiiniiiiinenns

Apparent reasons (maternity leave, military service, end of
studies etc.)

[Don’t know, can'’t say]

[Refused]
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LOOP = jobn (max. 10)

jobn (>0 & <888 888) |
(>888 888 & <999 997) |
(>999 997 & <999 999) |
>999 999
AND
hendy(x) < 999 996
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L ____capil=1
You said that you have taken maternity/parental leave <mleaven> times. | would like to
ask you a few follow-up questions.

1231. In what year did you start your maternity/parental leave for the
<first>/<second>/<third> time?

Record the year in the format YYYY.

Maternity leave refers to the period immediately preceding and following the birth of a child
(lasting approximately 20-28 or 37 weeks). For women, parental leave refers to a follow-up period
lasting until the child’s third or fourth birthday at the latest. For men, it refers to the period
immediately following the birth of a child and again lasting until the child’s third or fourth birthday at

the latest.
.......................................................................... LOOP = mleaven (max. 5)
Don’t know, can’t sa O
[ v 888 888 mleaven (>0 & <888 888) |
[Refused] Ooggggge  (>888888 & <999 997) |
(>999 997 & <999 999) |
>999 999

1232. In what year did your <first>/<second>/<third>... maternity/parental leave end?

Record the year in the format YYYY.

Maternity leave refers to the period immediately preceding and following the birth of a child
(lasting approximately 20-28 or 37 weeks). For women, parental leave refers to a follow-up period
lasting until the child’s third or fourth birthday at the latest. For men, it refers to the period
immediately following the birth of a child and again lasting until the child’s third or fourth birthday at

the latest.
.......................................................................... LOOP = mleaven (max. 5)
Still continues O 999 996 mleaven (>0 & <888 888) |
o (>888 888 & <999 997) |
Don't know, can't (>999 997 & <999 999) |
[Don’t know, can'’t say] 888 888 999 999
[Refused] O 999 999
1233. What followed after the end of this maternity/parental leave?
Hand showcard Q233.
Returned to my previous job (business) O 1
LOOP = mleaven (max. 5)
Started a new job O 2
mleaven
Started a business O, (>0 & <888 888) |
(>888 888 & <999 997) |
Was unemployed O,  (>999997 & <999 999) |
>999 999
Became a homemaker O 5 AND
mleavee(x) < 999 996
Other O 6
[Don’t know, can’t say] O 88
[Refused] O 99
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_____capil=1
You said there have been <unempl6> times that you were unemployed for more than 6
months. | am now going to ask you briefly about each of those periods of
unemployment. Let’s start with the first period of unemployment and continue with

the following period.

1234. In what year did you become unemployed for the <first>/<second>/<third>...
unems(x) time?

Record year in the format YYYY.

.......................................................................... LOOP = unempl6 (max. 5)

Don't know, can't sa O unempl6 (>0 & <888 888)
[ ¢ o 888888 | '(>888 888 & <999 997) |
Refused (>999 997 & <999 999) |
[Refused] 999 999 5595/968

1235. What was the reason you became unemployed?

Hand showcard Q235.
Dismissal, the whole company stopped operating, O
restructuring 1 LOOP = unempl6 (max. 5)
Termination by employer @) 2 unempl6 (>0 & <888 888)
| (>888 888 & <999 997) |
Fixed-term employment contract ended @) 3 (>999 997 & <999 999 |
>999 999

Went out of business or shut down/sold a family business O4
Termination by yourself due to conflict at work O 5
Termination by yourself to care for a family member O 6
Termination by yourself for other reasons O 7
You never had a job O 8

Other reasons. Specify:.......cccccvevieninnns O 9
[Don’t know, can’t say] O 88
[Refused] O 99

1236. And in what year did this period of unemployment end?

Record year in the format YYYY. If the respondent retired after a period of unemployment, they
should report the year of retirement.

LOOP = unempl6 (max. 5)
Still unemployed O 999 996
unempl6 (>0 & <888 888)
O | (>888 888 & <999 997) |
888888  (>999 997 & <999 999) |

O >999 999
[Refused] 999 999

[Don’t know, can’t say]
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1237. What followed?

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016

Hand showcard Q237.
Started a job @) 1
LOOP = unempl6 (max. 5)
Started a business O 2
unempl6 (>0 & <888 888)
Went on maternity leave @) 3 | (>888 888 & <999 997) |
(>999 997 & <999 999) |
Retiring O, >999 999
AND
Studied O 5 uneme(x) < 999 996
Became a homemaker @) 6
Other O 7
[Don’t know, can’t say] O 88
[Refused] O 99
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Now | am going to ask you a couple of questions about your children
living in this household.

1238. How often do you talk to your child named <name, age> about things that matter
to him/her?

Hand showcard Q238—-239.

Almost every day O 1
LOOP = hhsize
More than once a week O 2
rel(x)=4(5|6|7

Less than once a week O 3 AND

Ix/lage >=10
Almost never O 4 AND

Ixlage <= 17
[Don’t know, can't say] O 88
[Refused] O 99

1239. How often do you quarrel with your child named <name, age>?
Hand showcard Q238-239.
Almost every day O 1
LOOP = hhsize
More than once a week O 2
rel(x) =4|5|6|7

Less than once a week O 3 AND

Ixlage >=10
Almost never O, AND

Ixlage <= 17
[Don’t know, can'’t say] O 88
[Refused] O 99

1240. How much time on average do you spend with your child named <name, age> on
a working day? Exclude sleep time.

Indicate number of hours. If the respondent replies “24 hours”, remind them that sleep time is to be

excluded.
LOOP = hhsize
[Don’t know, can’t say] O 888 888 rel(x)=4|5|6|7
[Refused] O 999 999
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pdisch(x)

Often
Sometimes
Rarely

Never

[Don’t know, can'’t say]

[Refused]

1241. How often do you discuss politics and the current affairs in our country with your
child named <name, age>?

O,
LOOP = hhsize
O,
rel(x)=4|5|6|7
O, AND
Ix/lage >= 8

O,

O 88

O 99

1242. And how happy do you think <name, age> is about different things in his/her life?
Pick your answer on a scale where 1 means “completely happy” and 7 “not at all

happy”.
Hand showcard Q242.
completely happy
His/her
hapschw(x) school
. grades O 1 O 2
His/her
hapap(x
L(), appearance O, O,
hapfam(x) His/her family O O
— 1 2
: His/her
hapfri(x
pfri(x) friends O 1 O 2
— The school
hapsch(x) he/she goes
St i o, O,
hapliv(x His/her life as
p—() a whole O 1 O 2
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LOOP = hhsize
rel(x)=4|5|6|7
AND
Ix/age >=10
AND
Ix/lage <= 17
[Don’t
know, can’t
not at all happy say] [Refused]
O 4 O 5 O 6 O 7 O 88 O 99
O 4 O 5 O 6 O 7 O 88 O 99
O 4 O 5 O 6 O 7 O 88 O 99
O 4 O 5 O 6 O 7 O 88 O 99
O 4 O 5 O 6 O 7 O 88 O 99
O 4 O 5 O 6 O 7 O 88 O 99
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1243. What is the highest level of education you would like <name, age> to get?

Hand showcard Q243—-244.

Basic O 1
LOOP = hhsize
Secondary vocational O 2
rel(x)=4|5|6|7
Secondary technical, maturita exam O 3 AND
Ixlage < 25
Secondary general, maturita exam O, AND
IxIstd =1

Tertiary, Bachelor's degree O 5

Tertiary, Master’s degree O 6

Tertiary, Doctoral degree O 7

[Don’t know, can’t say] O 88

[Refused] O 99

1244. And what is the highest level of education you think <name, age> will actually

get?

Hand showcard Q243—-244.

Basic O 1
LOOP = hhsize
Secondary vocational O 2
rel(x) =4|5]6|7
Secondary technical, maturita exam O 3 AND
Ixlage < 25
Secondary general, maturita exam O 4 AND
IxIstd =1

Tertiary, Bachelor's degree O 5

Tertiary, Master’s degree O 6

Tertiary, Doctoral degree O 7

[Don’t know, can’t say] O 88

[Refused] O 99
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rplaidh(x)
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1245. Have you ever given your child named <name, age> financial support to buy a flat
or house or have you given a flat or house away to him/her?

Yes, very significant support or gift (more than 50% of the

acquisition cost)

Yes, significant support or gift (between 25% and 50% of

the acquisition cost)

Yes, partial support or gift (less than 25% of the acquisition

cost)

No

[Don’t know, can'’t say]

[Refused]

O 1 LOOP = hhsize
O rel(x)=4|5|6|7
2 AND
Ixlage >= 15
AND
O 3 (/xlown =1 OR
Ix/lcoo = 1)
O,
O 88
O 99

1246. Are you planning to give your child named <name, age> a financial contribution to
buy a flat/house or to give a house or flat away to him/her?

Yes

No

[Don’t know, can'’t say]

[Refused]

O
O 1 LOOP = hhsize
2 rel(x) =4|5|6|7
O AND
88 Ixlage >= 15
O AND
99  raidh(x) =488 |97 |99

107/130



1247. Do you have any biological/adopted children living outside your household?

Yes O 1
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99

1248. How many are there?

Write in number.

nrech =1
[Don’t know, can’t say] O 888 888

[Refused] O 999 999

DERIVED VARIABLE

total number of biological and adopted children (residential or non-residential)

1249. Could you tell me their first names? The names will help us keep track in the next
set of questions.

The respondent may also give the child’s nickname or number.

.............................................................. LOOP = nrechn (max. 8)

[Don’t know, can't say] O g nrechn (>0 & <888 838)
| (>888 888 & <999 999)

[Refused] O 0 | >999 999
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Now | am going to ask you a couple of questions about these children
living outside your household.

1250. Record the sex of the child <name>.

Male O 1

Female O 2
nrechn (>0 & <888 888)
O | (>888 888 & <999 999)
88 | >999 999

LOOP = nrechn (max. 8)

[Don’t know, can’t say]

[Refused] O 99

1251. In what month and year was <name> born?

nbirthm(x) nbirthy(x) Record year in the format YYYY.

January O 1
February O 2 [Don’t know, can’t say] O 888 888
March O 3 [Refused] O 999 999
April O,
May O 5
LOOP = nrechn (max. 8)
June O 6
nrechn (>0 & <888 888)
July O, | (>888 888 & <999 999)
| >999 999
August O 8
September O 9
October O 10
November O 1
December O 12
[Don’t know, can’t O 88
say]
[Refused] O 99

LOOP = h .8
DERIVED VARIABLE nrechn (max. 8)
i i i nrechn (>0 & <888 888)
age of non-residential children T APt
| >999 999
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1252. Could you please specify for me with whom <name> lives?

Hand showcard Q252.
With biological mother only O1
LOOP = nrechn (max. 8)
With biological father only O,
nage(x) <= 17
With biological mother and a stepfather O 3
With biological father and a stepmother O4
With grandparents O 5
With (an)other relative(s) @) 6
With (an) adoptive parent(s) O 7
In a foster family O 8
In a boarding school/dormitory O 9
In a children’s home O 10
In a special youth home O 11
Elsewhere O 12
[Don’t know, can’t say] O 88
[Refused] O 99
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1253. What is your child <name>’s marital status?

Hand showcard Q253.
Married O 1
LOOP = nrechn (max. 8)
Registered same-sex partnership O 2
nage(x) >= 15
Divorced O 3
Widowed O 4
Single, never married O 5
[Don’t know, can’t say] O 88
[Refused] O 99
nwith(x) 1254. Does <name> live with his/her spouse or partner in the same household?
Yes O 1
LOOP = nrechn (max. 8)
No O 2
nage(x) >= 15
[Don’t know, can'’t say] O 88
[Refused] O 99

< S . s .
nsentryy(x) I255r.nﬁ:ltvr\‘l:at age did <name> start first grade? Please tell me that age in years and

Write in number of years. The respondent should report the precise number of years and months,
e.g. 6 years, 11 months.

LOOP = nrechn (max. 8)

Has not started school yet O 999 996
O nage(x) >= 5
) ) AND
[Don’t know, can'’t say] 888 888 nage(x) <= 26
[Refused] O 999 999

nsentrym(x)

Write in number of months.

LOOP = nrechn (max. 8)

Has not started school yet O 999 996
O nage(x) >=5
, , AND
[Don’t know, can'’t say] 888 888 nage(x) <= 26
[Refused] O 999 999

Czech Household Panel Survey — CAPI individual questionnaire — Wave 2, 2016 111/130



1256. Was <name’s> entry to primary school delayed, or did he/she repeat a grade?

Grade repetition pertains to both primary and secondary school.

Hand showcard Q256.
No O 1
LOOP = nrechn (max. 8)
Yes, his/her entry to primary school was delayed O 2

nage(x) >=6

Yes, he/she repeated a grade O 3 AND
nage(x) <= 26

Yes, his/her entry to primary school was delayed and O
he/she repeated a grade 4
Has not started school yet O 5
[Don’t know, can’t say] O 88
[Refused] O 99

1257. What is the highest level of education <name> has completed?

Hand showcard Q257.

“Primary” applies to children in 8- or 6-year gymnasiums or conservatories with completed 9 years
of compulsory school attendance.

Never received any education (so far) O 0
LOOP = nrechn (max. 8)
Incomplete basic O1
nrechn (>0 & <888 888)
Basic O ) | (>888 888 & <999 999)
| >999 999
Secondary vocational, no maturita exam O 3
Lower secondary, no maturita exam O 4
Secondary vocational, maturita exam O 5
Secondary technical, maturita exam O 6
Secondary general, maturita exam (gymnasium) O 7
Tertiary, professional Bachelor's degree O 8
Tertiary, academic Bachelor’s degree O 9
Tertiary, Master’s degree O 10
Tertiary, Doctoral degree @) 11
[Don’t know, can’t say] O 88
[Refused] O 99
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1258. In his/her accommodation, your child named <name> is...

Hand showcard Q258.
Owner/co-owner of the flat/house @) 1
LOOP = nrechn (max. 8)
Member of the flat/house owner or co-owner’s household @) 2
nrechn (>0 & <888 888)
Shareholder in a housing cooperative O 3 | (>888 888 & <999 999)
| >999 999
Member of the housing cooperative shareholder’s O
household 4
Tenant renting from government/local authority (party to a O
contract with the government/local authority) 5
Member of the government/local authority tenant’s O
household 6
Tenant renting from a private landlord O 7
Member of the private landlord tenant’s household @) 8
Subtenant O 9
Rent-free accommodation (provided by relatives etc.) O 10
Accommodation in a boarding school, asylum house, O
workers’ quarters, student dormitory 11
Other form of housing tenure than the above-mentioned O 12
[Don’t know, can't say] O 88
[Refused] O 99
naidh(x) 1259. Have your ever given your child named <name> financial support to buy a flat or
house or have you given a house or flat away to him/her?

Yes, very significant support or gift (more than 50% of the O

acquisition cost) 1 LOOP = nrechn (max. 8)

Yes, significant support or gift (between 25% and 50% of O nage(x) >= 15

the acquisition cost) 2 - )AN1DI —
nninr(x) =

Yes, partial support or gift (less than 25% of the acquisition O

cost) 3

No O4

[Don’t know, can’t say] O 88
[Refused] O 99
laidh 1260. Are you planning to give your child named <name> a financial contribution to buy
P ETENTEY) a flat/house or to give a house or flat away to him/her?
Yes O1

LOOP = nrechn (max. 8)
No O 2

nage(x) >= 15
, ’ O AND
[Don’t know, can’t say] 88 naidh(x) = 4 | 88 | 97

[Refused] O 99
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Allow me a few final questions about you for statistical processing of the
data.

1261. Please tell me the total amount of your gross annual or monthly income from all
your paid jobs in the last calendar year (i.e. from your main job, side job or
temporary contracts as an employee, including all bonuses and extra earnings).

Encourage respondents to use documents such as a tax return or payslip.

If the respondent is not sure about the difference between net and gross pay, explain that GROSS
pay means the wage, extra pay, premium pay and bonuses BEFORE tax and other deductions
paid by the respondent. NET pay means gross pay minus income tax advance payment and minus
health and social insurance.

Write in number.

[Don’t know, can’t say] O 888 888

[Refused] O 999 999

Code whether respondent stated annual or monthly income.

Annual O 1
payg (>0 & <888 888) |
Monthly O, (>888 888 & <999 999) |
>999 999
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paygcat 1262. And could you use this card to indicate your gross monthly income in the last
calendar year?

Hand showcard Q262.
No income O 1
payg = 888 888
Up to 4,999 CZK/month (up to 59,999 CZK/year) O 2 | 999 999
5,000-7,999 CZK/month (60,000-95,999 CZK/year) O 3
8,000-9,999 CZK/month (96,000-119,999 CZKl/year) O 4

10,000-11,999 CZK/month (120,000-143,999 CZK/year) O
12,000-13,999 CZK/month (144,000-167,999 CZK/year) O
14,000-15,999 CZK/month (168,000—191,999 CZKlyear) O,
16,000-17,999 CZK/month (192,000-215,999 CZK/year) O,
18,000-19,999 CZK/month (216,000-239,999 CZKl/year) O,
20,000-22,999 CZK/month (240,000-275,999 CZKl/year) O 40
23,000-25,999 CZK/month (276,000-311,999 CZK/year) O
26,000-29,999 CZK/month (312,000-359,999 CZK/year) O,
30,000-49,999 CZK/month (360,000-599,999 CZK/year) O3
50,000-69,999 CZK/month (600,000-839,999 CZK/year) O

Over 70,000 CZK/month (over 840,000 CZK/year) O 15
[Don’t know, can’t say] O 88
[Refused] O 99
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1263. Please tell me the total amount of your net annual or monthly income from all
your paid jobs in the last calendar year (i.e. from your main job, side job or
temporary contracts as an employee, including all bonuses and extra earnings).

Encourage respondents to use documents such as a tax return or payslip.

If the respondent is not sure about the difference between net and gross pay, explain that GROSS
pay means the wage, extra pay, premium pay and bonuses BEFORE tax and other deductions
paid by the respondent. NET pay means gross pay minus income tax advance payment and minus
health and social insurance.

Write in number.

[Don’t know, can’t say] O 888 888

[Refused] O g99 999

Code whether respondent stated annual or monthly income.

Annual O 1
payn (>0 & <888 888) |
Monthly O,  (>888 888 & <999 999) |
>999 999
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1264. And could you use this card to indicate your net monthly income in the last
calendar year?

Hand showcard Q264.
No income O 1
payn = 888 888
Up to 4,999 CZK/month (up to 59,999 CZK/year) O 2 | 999 999
5,000-7,999 CZK/month (60,000-95,999 CZK/year) O 3
8,000-9,999 CZK/month (96,000-119,999 CZK/year) O 4

10,000-11,999 CZK/month (120,000-143,999 CZK/year) O
12,000-13,999 CZK/month (144,000-167,999 CZK/year) O
14,000-15,999 CZK/month (168,000-191,999 CZK/year) O,
16,000-17,999 CZK/month (192,000-215,999 CZK/year) O,
18,000-19,999 CZK/month (216,000-239,999 CZK/year) O,
20,000-22,999 CZK/month (240,000-275,999 CZK/year) O 40
23,000-25,999 CZK/month (276,000-311,999 CZK/year) O
26,000-29,999 CZK/month (312,000-359,999 CZK/year) O,
30,000—49,999 CZK/month (360,000-599,999 CZK/year) O3

Over 50,000 CZK/month (over 600,000 CZK/year) O 14
[Don’t know, can’t say] O 88
[Refused] O 99

1265. And for how many months did you have your employment income in the last
year?

Write in number.

.................................................................. paygam =1
‘ ‘ OR
[Don’t know, can't say] O 888 888 paynam =1
[Refused] O 999 999
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1266. In the last calendar year, did you have any income from a trade, lease, farming,

business in accordance with special provisions (physicians, lawyers), a liberal
profession (professional athletes, artists, interpreters), a share in a general
partnership, or royalties?
Yes O1
No Oz
[Don’t know, can’t say] O 88
[Refused] Ogg

£ 1267. What was your operating result for the last calendar year, that is your gross profit
Spayd or loss?

Encourage respondents to use documents such as a tax return or payslip. Co-workers/business
partners should indicate their corresponding share of the collective total amount.

Write in number.

............................................................................ =
[Don’t know, can’t say] O 888 888
[Refused] O 999 999
Code whether the figure relates to profit or loss.
Profit O,
sfpayg (>0 & <888 888) |
Loss O 2 (>888 888 & <999 997) |
(>999 997 & <999 999) |
>999 999
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1268. What was your net profit/loss?

Encourage respondents to use documents such as a tax return or payslip. Co-workers/business
partners should indicate their corresponding share of the collective total amount.

Write in number.

sfpay =1
[Don’t know, can’t say] O 888 888

[Refused] O 999 999

Code whether respondent stated profit or loss.

Profit O,
sfpayn (>0 & <888 888) |
Loss O,  (>888888 & <999 997) |
(>999 997 & <999 999) |
>999 999

1269. Code the type of document used by the respondent in answering the previous questions.

Annual financial statement O 1

Tax return O 2 steay=t
Other document (e.g. a statement for a health insurance O \

company)

No document O 4

[Don’t know, can’t say] O 88

[Refused] O 99
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open

wpen

dpen

ucom

neben

siben

1270. In the last calendar year, did you receive any of the following welfare benefits and

payments?

Old-age pension

Survivor’s pension

Disability pension, full or

partial

Unemployment benefit

Assistance in Material Need

Sickness benefit

Maternity benefit

Parental allowance

Scholarships, stipends
(merit-based, need-based
etc.), trainees’ allowances

Yes

1

0.

No

O,

[Don’t know,
can't say]

OBS

OBS

OBS
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[Refused]

O99

O99

O99

age >=55

rell=4|5|6]|7
AND
1age =< 2
OR ...
rel10=4|5|6|7
AND
10age =< 2

rell=4|5|6]7
AND
1age =< 4
OR ...
rel10=4|5|6|7
AND

10age =< 4
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1271. —1272. If you did, please specify for how many months you received the benefits
you indicated and the respective monthly amounts.

Use NUMBERS to indicate the number of months and CZK.

number of [Don’t know,
months can't say] [Refused]

Old-age pension open =1
............ O 838 883 O 999 999
Survivor’s pension wpen =1
............ O 888 838 O 999 999
Disability pension,
. dpen =1
fu" or partlal ............ O 888 888 O 999 999
beneflt ............ O 888 888 O 999 999
Assistance in
nebenm =
Material Need C ------------ O 888 888 O 999 999 neben =1
Sickness benefit sibenm siben = 1
............ O 838 888 O 999 999
Maternity benefit mabenm | O O maben = 1
888 888 999 999
Parental allowance | pallowm | O O pallow = 1
888 888 999 999

Scholarships,

stipends (merit- schol =1
based, need-based
............ O 888 888 O 999 999

etc.), trainees’
allowances
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Use NUMBERS to indicate the number of months and CZK.

Old-age pension

Survivor’s pension

Disability pension,
full or partial

Unemployment
benefit

Assistance in
Material Need

Sickness benefit

Maternity benefit

Parental allowance

Scholarships,
stipends (merit-
based, need-based
etc.), trainees’
allowances

opena

wpena

dpena

ucoma

nebena

~——

Y

sibena

Y

mabena

pallowa

CZK/month

[Don’t know,
can'’t say]

O 888 888
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[Refused]

O 999 999

open =1

wpen =1

dpen =1

ucom =1

neben =1

siben =1

maben =1

pallow =1

schol =1
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1273. In the last calendar year, did you receive investment income (shares in the profits
of limited companies and cooperatives, dividends, income from securities, bonds,

etc.)?
Yes O 1
No O 2
[Don’t know, can’t say] O 88
[Refused] O 99

1274. How much was it annually, in CZK before tax?

Write in number.

capin =1
[Don’t know, can'’t say] O 888 888

[Refused] O 999 999

1275. In the calendar last year, did you have any other income not yet mentioned, such
as other welfare benefits, income from insurance or inheritance?

Yes O 1
No O 2
[Don’t know, can'’t say] O 88
[Refused] O 99

1276. How much was it annually, in CZK before tax?

Write in number.

............................................................................. othin = 1
[Don’t know, can’t say] O 888 888

[Refused] O 999 999
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DERIVED VARIABLE

amount of gross monthly employment income, in CZK

DERIVED VARIABLE
source information for the construction of the dignum variable

Individual questionnaire, zero amount
Individual questionnaire, monthly amount

Individual questionnaire, annual amount (relative to the
number of months income was received)

Individual questionnaire, categories (central value imputed)

Proxy questionnaire, categories (central value imputed)

DERIVED VARIABLE

amount of net monthly employment income, in CZK

DERIVED VARIABLE

source information for the construction of the dinnum variable

Individual questionnaire, zero amount
Individual questionnaire, monthly amount

Individual questionnaire, annual amount (relative to the
number of months income was received)

Individual questionnaire, categories (central value imputed)

Proxy questionnaire, categories (central value imputed)
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DERIVED VARIABLE

categorized gross monthly employment income, in CZK

No income

Up to 4,999 CZK/month (up to 59,999 CZK/year)
5,000-7,999 CZK/month (60,000-95,999 CZK/year)
8,000-9,999 CZK/month (96,000—119,999 CZK/year)
10,000-11,999 CZK/month (120,000-143,999 CZK/year)
12,000-13,999 CZK/month (144,000-167,999 CZK/year)
14,000-15,999 CZK/month (168,000-191,999 CZK/year)
16,000-17,999 CZK/month (192,000-215,999 CZK/year)
18,000-19,999 CZK/month (216,000-239,999 CZK/year)
20,000-22,999 CZK/month (240,000-275,999 CZK/year)
23,000-25,999 CZK/month (276,000-311,999 CZK/year)
26,000-29,999 CZK/month (312,000-359,999 CZK/year)
30,000-49,999 CZK/month (360,000-599,999 CZK/year)
50,000-69,999 CZK/month (600,000-839,999 CZK/year)
Over 70,000 CZK/month (over 840,000 CZK/year)

DERIVED VARIABLE

categorized net monthly employment income, in CZK

No income

Up to 4,999 CZK/month (up to 59,999 CZK/year)
5,000-7,999 CZK/month (60,000-95,999 CZK/year)
8,000-9,999 CZK/month (96,000-119,999 CZK/year)
10,000-11,999 CZK/month (120,000-143,999 CZK/year)
12,000-13,999 CZK/month (144,000-167,999 CZK/year)
14,000-15,999 CZK/month (168,000-191,999 CZK/year)
16,000-17,999 CZK/month (192,000-215,999 CZK/year)
18,000-19,999 CZK/month (216,000-239,999 CZK/year)
20,000-22,999 CZK/month (240,000-275,999 CZK/year)
23,000-25,999 CZK/month (276,000-311,999 CZK/year)
26,000-29,999 CZK/month (312,000-359,999 CZK/year)
30,000-49,999 CZK/month (360,000-599,999 CZK/year)

Over 50,000 CZK/month (over 600,000 CZK/year)
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DERIVED VARIABLE

amount of gross monthly business income, in CZK (1/12 of annual amount)

DERIVED VARIABLE

amount of net monthly business income, in CZK (1/12 of annual amount)

DERIVED VARIABLE

amount of monthly income from pensions (old-age, survivor, disability), in CZK

DERIVED VARIABLE

amount of monthly income from welfare benefits (unemployment benefit, Assistance in
Material Need, sickness benefit, maternity benefit, parental allowance, scholarships/stipends),
in CZK

DERIVED VARIABLE

amount of gross monthly income from capital assets and other sources, in CZK (1/12 of
annual amount)
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| capi1=2
11277. In which country were you born?

Czech Republic O,
Slovak Republic O,
Ukraine O 3
Russia O 4
Poland O 5
Germany @) 6
Austria O 7
Vietnam O 8
China O,
USA O
Other. SpecCify: ....covviiiiiiiiii O 11
[Don’t know, can'’t say] O 88
[Refused] O 99

____capi1=2 |
1278. In what county were you born? (selection from code list in the data)
[Don’t know, can'’t say] O 888 888 cborn =1
[Refused] O 999 999

| capi1=2
1279. In which part of the country were you born?

Indicate a geographic unit that is reasonably comparable to Czech administrative counties.

.................................................................. cborn=2{3[4]5
[Don’t know, can't say] 088 [6]7]18]9]10]11

[Refused] O 99
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=N

citcr

citcb

citoc

Y

citdk

citref
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| capi1=2
1280. In what year did you first come to the Czech Republic/Czechoslovakia? Give the
year you of your first stay, even if you have spent some more time abroad since.

Record year in the format YYYY.

.................................................................. cborn=2{3[4]5
[Don’t know, can't say] 0888 888 [6]7]8]9]10]11

[Refused] O 999 999

1281. Are you a citizen of the Czech Republic, a citizen of your country of birth or a
citizen of another country? If you have several citizenships, please tell me all of

them.
MULTIPLE CHOICE.
iti f th h R li
Citizen of the Czech Republic P e DS
» . [6]7]8]9]10]11
Citizen of the country of birth 4
Citizen of another country. Specify: ......... mp
[Don’t know, can’t say] D1
[Refused] D1
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1282. What is your nationality?

Hand showcard Q282.
Czech
Moravian
Silesian
Slovak
Polish
German
Roma
Ukrainian
Hungarian
Vietnamese

Russian
Other. SpecCify: ..cciiiiiiiiicr e

[Don’t know, can’t say]

[Refused]

Hand showcard Q283.
Roman Catholic
Evangelical of Czech Brethren

Czechoslovak Hussite

Other Christian. Specify: .....ccocviiiiiiiiiiiiia,

Other non-Christian. Specify: ........cccveviiiiiinannn.

None

[Don’t know, can'’t say]

[Refused]
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1284. Apart from special occasions such as weddings and funerals, about how often do
you attend religious services nowadays? Please use this card.

Hand showcard Q284.
Every day O 1
More than once a week O 2
Once a week O 3
At least once a month O 4
Only on special holy days O 5
Less often O 6
Never O 7
[Don’t know, can’t say] O 88
[Refused] O 99

1285. If a referendum was held on the Czech membership in the European Union, how
would you vote?

| would vote for the Czech Republic to remain in the O
European union 1

I would vote for the Czech Republic to leave the European O
2

union

| would not vote O 3
[Don’t know, can’t say] O 88
[Refused] O 99
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